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General Instructions :

Read the following instructions carefully and follow them :

(1)
(i)
(iii)

(iv)

(v)

(vi)

This question paper contains 37 questions. All questions are compulsory.
Question paper is divided into SIX sections — Section A, B, C, D, E and F.

Section A — Question number 1 to 20 are Multiple Choice type questions.

Each question carries 1 mark.

Section B - Question number 21 to 24 are Very Short Answer type
questions. Each question carries 2 marks. Answer to these questions

should not exceed 40 words.

Section C — Question number 25 to 29 are Short Answer type questions.
Each question carries 3 marks. Answer to these questions should not

exceed 60 words.

Section D — Question number 30 to 33 are Long Answer type questions.
Each question carries § marks. Answer to these questions should not

exceed 120 words.

(vii) Section E — Question number 34 to 36 are Case-based/Source-based

questions with three sub-questions. Each question carries 4 marks.

(viii) Section F — Question number 37 is Map Skill based question with two

(ix)

parts — 37(a) from History (2 marks) and 37(b) Geography (3 marks). This

question carries total 5§ marks.

In addition to this, NOTE that a separate question has been provided for
Visually Impaired Candidates in lieu of questions having visual inputs,
Map etc. Such questions are to be attempted by Visually Impaired
Candidates only.
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(Sgfereheda ¥ ) (20 x 1 = 20)

1. 49 TR e miekle’ Ffaiad 1 & fora fomamem @ gefeq or ? 1
(A) FHSEE (B) 3R
(C) wHAHI (D) wrEETE

2. = Q%Y few | A AR (A) 3 HRT (R) & | SF1 AT 1 ufen 3 wd
ferehed 1 =9 IS | 1
ARHAT (A) :  TiS IR Whicere o 9 TR 36 A (1707)’ | FA5CE T ATh

e oA’ o1 TTe 53T |

SR (R) : $018 Thiceis T U1 T THMT =rga T |

forpea

(A) (A) IR (R) 1 @21 & 3R (R), (A) ! FE! AT HLA1 S |
(B) (A) 30 (R) aFi @&l €, g (R), (A) sh! HEl <A T Hiai 2 |
(C) (A) @& 7, "g (R) ™o 7 |

(D) (A) TTerd &, 7 (R) @el € |

3. Tym=fefaad geisti ot Hretshites 9 8 Srafe Hife 3t a8 fohca A il | 1
I.  Eqan 6 gty
II. 3vant sl & ol Rl YgH T
I, STeshd 999
V. Jifersm <Y TrTieh Gifge
Toreped
A IV, ILI&III
B) IILIILIV &I
©) IV,LII&III
O) LIV, I &II
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SECTION - A
(Multiple Choice Questions) (20 x 1 =20)

1. The German philosopher ‘Johann Gottfried’ belonged to which one of the

following schools of thought ? 1
(A) Socialist (B) Liberalist
(C) Romanticist (D) Marxist

2.  Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option. 1

Assertion (A) : ‘The Act of Union 1707 between England and Scotland
resulted in the formation of ‘United Kingdom of Great Britain’.

Reason (R) : England wanted to impose its influence on Scotland.
Options:

(A) Both (A) and (R) are true and (R) is the correct explaination of (A).
(B) Both (A) and (R) are true but (R) is not the correct explaination of (A).
(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

3. Arrange the following events in chronological order and choose the correct
option. 1

I. Treaty of Constantinople

II. Hamburg granted autonomy to Hungary
ITII. Balkan Conflict

IV. Napoleonic Civil Code

Options:

A IV, I,I&III

B) IILIIV&I

(C©) IV, L1II &III

D) LIV, I &II
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4. TrafaRea @ @ HH-o1 e o gufera § 2

T S|
(TEH) (TKTH)

(A) e Fol TR e

(B) g = F=ft shferand

(©) T gl et A

(D) Tt & Bl IR oS HaTA

5. Tk €™ i qfd o foTe T2 forehed o1 == SIS |

I G AYS
W‘?‘@ﬁﬁr: ............
(A) STRid T8 (B) digwETse
(C) T (D) wifew

6. &I h! HTIRIA feRINaTaTi I ey 3R G Y frehedi § & §a1 i 9g=H it |

o g fomgd w9 H Tefl g ST wei g # |

o STOHCH TEH AR |

o 3N, e 3R Hfeh! 9T ITA & |

oo

(A) et ga (B) el e
(C) IS Hal (D) STeiIg HeT
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4.  Which one of the following pairs is correctly matched ? 1

List-I List-I1

(Author) (Book)
(A) Jyotiba Phule Amar Jiban
(B) Sudarshan Chakra Sachhi Kavitayen
(C) Rash Sundari Debi Gulamgiri
(D) Kashi Baba Chotte aur Bade Sawal

5. Choose the correct option to fill the blank. 1

Non Metallic Mineral : Mica

Energy Mineral: | ...

(A) Natural Gas (B) Bauxite

(C) Manganese (D) Platinum

6. Read the following characteristics of a soil and identify the soil from the

given options. 1

o It is widely spread and important soil.

o Northern plains are made of it.

o It consists of sand, silt and clay.

Options:
(A) Yellow soil (B) Black soil
(C) Laterite soil (D) Alluvial soil
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7.  T9-1R1 e w9-11 9 hifve 3 92t faemca w1 =94 il -

w1

(H8)
L ™
IL
1. =™
IV.  Heeh
Tereped -

I I1

@A d a
B ¢ d
© a
O d b

-

(1)
HIT 3
9 ®EA

el by

QT 37 I B8

v

8. frmfaftaa el =l ufeu 3R feu T foehedl # @ Wi wfaum ° 3feeifaa d&t sree 1

Wﬁﬁﬁ:

o AN Uy 7 foret oft o} <h1 Uorehi o o w9 H 3Tfiehr A8 foran 8 |
o WG H ford ot & A1 UTeH T 3T YRR ohid hl 3ANET B |

Torehed

A) TR
(B) WYwE-HI
(C) HurSad
(D) vt
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7. Match Column-I with Column-II and choose the correct option : 1

Column-I Column-II
(Crop) (Type)
I. Wheat a.  Millet Crop
II. Ragi b.  Beverage Crop
III. Tea c. Food Crop
IV. DMaize d. Food & Fodder Crop
Options:
I II I v
(A) d a C b
(B) c d b a
(©) c a b d
(D) d b a ¢

8. Read the following statements and choose the correct term mentioned in

the Indian Constitution from the given options : 1

o There is no official religion for the Indian State.

o There is freedom to profess, practise and propagate any religion

1n India.

Options:

(A) Republic
(B) Sovereign
(C) Socialist
(D) Secular
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9. frafafgaSgida sm-mmgafera ?
(Tl wiferenm # ferit <t =) (fer=)

(A)  wg g o ~ TR
B) T g w1 faw —  foren
(C) THa gt o1 forsr — g oM
(D) sTh § T S CEI

10. Sfcsam i w1 i ARieit % G99 § FfcRad wuEi @1 afeu 3k @€t fashed w1 w=m
HIT |
I 58cd o aue gfaffe ameft srem TR # |
1. ¥ SR | S 3R Whal- ATl A1 sl 0H 967 3 |
III. TTYETReh BXeh ST T Tsh &1 TN Siet dTel @1 &hid % |
IV. SgeE -l o qgd Sfea™ H %3 eH 3I31¢ T |
e :
A) I II3WIV

B) I, 13RIV
(C) IL III3WIV
(D) I, 113 III

11. f=fafea 09 frg oo § “Teh-actfia sgeen’ g 2
(A) TIH T TURET
(B) FATEes Tehten

(C) wra

(D) <A
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9.  Which one of the following pairs is correctly matched ? 1

(Subject List in the Indian (Subject)
Constitution)
(A) Union List Subjects - Communication
(B) State List Subjects - Education
(C) Concurrent List Subjects — Adoption
(D) Residuary Subjects - Marriages

10. Read the following statements about power sharing arrangement in

Belgium and choose the correct option. 1
I.  Brussels has a separate govt. with equal representation.

II. Dutch & French speaking ministers are equal in Central Govt.

III. Community Govt. is elected by People belonging to one language.

IV. Series of majoritarian measures adopted in Belgium.

Options :

A L ITandIV

(B) L IITandIV

(C) 1L III and 1V

(D) I, II and III

11. Which one of the following countries has ‘one-party system’ ? 1
(A) United States of America
(B) United Kingdom
(C) India
(D) China
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12. T=fefaa @ @ -1 ArRhas o1 o g 8 2
(A) U fxh T AEH
(B) SMTd HHEE! 1 IMEH
(C) TIaAdT ok |1 AN I SMEH

(D) =T Ig@l =T I

13, fafafea wmwisti 3§ & wn - yrdta dfaum 6 smadt sggeh § aftrfera 2 2
(A) g (B) TSEHI
(C) Trgaet (D) 3fean

14. T wm sl qfd & o7 9t foshed w1 = iV |
& & Y R 3G9 TR Y o AT H TR FHESAT T ST 8 |

@A) 10 B) 7
C) 5 D) 8

15. WH ST 7 T Aigeel § IR INER & | 3 IR UNER! &l Th G618 1 379 a9
% 2,000, 5,000, T 3,000 3T T 6,000 B 11 Alget i ATHI & Ed AT BRI —

(A) % 4,000
(B) 2 5,000
(C) % 2,000

(D) 1,000
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12. Which one of the following is a fundamental principle of democracy ? 1
(A) Rule of single individual
(B) Rule with hereditary norms
(C) Rule of people with freedom

(D) Rule of military chiefs

13. Which one of the following languages is included in Eighth Schedule in

Indian Constitution ? 1
(A) Hariyanavi (B) Rajasthani
(C) Garhwali (D) Odia

14. Choose the correct option to fill the blank.

Literacy Rate measures the proportion of literate population in the

years and above age group. 1
(A) 10 B) 7
©€) 5 D) 8

15. Assume there are four families in a locality. If the incomes of these four

families in a week are ¥ 2,000, ¥ 5,000, ¥ 3,000 and T 6,000, then the

weekly average income of the locality will be — 1
(A) T 4,000
(B) 5,000
(C) T 2,000
(D) 1,000
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16. Tr=faRad § & wF-1 e 9! gafed 8 2

(rfTERAT T BA) (SSTETT)
A) i & — gt
B) ot aoep ~ g
(C) qdre & —  Sfaie IEh
(D) et &ereh - ER

17. feuwwm fom =i efau | fomr 0 8 oo R fefefaa O 9 fora &mes & 3farid smar g

5 o " : .;
23 »

(C) 3TerTiSa &= (D) e ST

e - Fr=fafaa w1 wae gidafea wlefiE & ey gem 17 @MW R |
fmfafed 3 & w-a1 3em gnfed & @ qefa & 2

(A) T hIeTE (B) wgU¥HE Hmfaf

(C) peure forshar (D) FHERIEAM

18. THRId H & M- s G & ST ATt 30T (el o TTeIfHeh 3639 & ?
(A) 3 forfia T o T faeaet e
(B) <had UM &k bl SITY TG
(C) UE UM ! 3™ FgHT
(D) 3miieh TorehTa <1 THT ST
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16. Which one of the following pairs is correctly matched ? 1

(Sector of the Economy) (Example)
(A) Primary Sector - Tailor
(B) Secondary Sector — Fisherman
(C) Tertiary Sector — Astronaut
(D) Primary Sector — Courier

17. Look at the given image. The work done in the image comes under which

one of the following sectors ? 1

(A) Organized sector (B) Primary sector
(C) Unorganized sector (D) Public sector
Note: The following question is for the Visually Impaired

Candidates in lieu of question no. 17.

Which one of the following enterprises belongs to the organized sector ? 1
(A) Independent Freelancers (B) Multinational Corporations
(C) Street Vendors (D) Cottage Industries

18. Which of the following is the primary purpose of loan activities offered by
banks ? 1
(A) To compete with other financial institutions
(B) To generate profits for the primary sector only
(C) To increase income of MNCs

(D) To support economic growth
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19. Sydiehr & feferiad Taeetl =l 3 foaatr o @1y fiersy 3R Tt foehed o1 =2
ST |

T T
CIECERLEN (Ferarom)
I heifies 3=fd a. foaml, goat 3t ot &
HCH-3EH
II. =TT IGRIHT b. @3 ¥ H A ST
1. di&hiae EH-TgH c.  3cUTGH, g1 Ud HER H TEER
IV. Sgugi sufar d. SR R IfaeY g
forepem
I I I IV
A) a b c d
B) ¢ d a b
€ d c b a
M) b a d c

20. fr=fefga & @ SR gomm @i’ (BMI) & Jodieh § Gafdd T8 foehed &1 ==
i |

(A) & =19 T ATheH
(B) T& eh(l TR I JTTeheid
(C) IR =t BT T SATehel
(D) 379 TIYUT ST SATehei
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19. Match the following aspects of globalization with their descriptions and

choose the correct option.

(Global Aspect)

I. Technological
Advancement

II. Liberalization of Trade

III. Cultural Exchange

IV. Multinational

List-I

Corporations
Options:
I IT
A a b
(B) c d
© d c
M) b a

III

List-I1
(Description)

a. Interaction of ideas,

values and traditions

b. Companies operating in

many countries

c. Innovation in
manufacturing,
communication and

information

d. The removal of

restriction on trade

v

20. Choose the correct option regarding ‘Body Mass Index’ (BMI) from the

following.

(A) Assessment of Blood Pressure

(B) Assessment of Blood Sugar Level

(C) Assessment of Body Composition

(D) Assessment of under Nutrition

32/2/1/21/BBCA2

Page 17 of 32

P.T.O.



Qg -@ (4 x 2=28)

(3far -3 %)

21. “1815 H U ¥ T1fUd Efeard! e =aemd Figp off |” #1531 T o 39 HUH i
g Hifse |

29. &fas gl greerd Fwier 9 forg g fir 2 2 saren hifsw |

23. (a) iy Fafg 3l anforfsae i o 3iq g i |
YT

(b) Tt 3R G I g B R T HIT |

24. T UY fohd TR 371Teeh forenmdl 37X wifareT Urwufiert < s Tger ST oht Tehd & ? ig
Tl b T Y ST |

Qque - T (5 x 3=15)

(T3 T9)

25. (a) 3MYHS HT & Tgct o JT W ‘Tees uml’ fohg TohR STaTRa: Tdehi 1 Teh Sfiaa
IETE0T AT ? T9F I |

3AYdT

(b) Y I § TEA o I H el Ut e Thr U SRl o ot HIEhldeh STGH-
TEH 9T & ? T HIR |

32/2/1/21/BBCA2 Page 18 of 32




21.

22.

23.

24.

25.

SECTION - B (4x2=8)

(Very Short Answer Type Questions)

“Conservative regimes set up in Europe in 1815 were autocratic.” Support

the statement by giving any two arguments. 2

How is horizontal power sharing different from vertical ? Explain. 2

(a) Differentiate between Primitive Subsistence and Commercial Farming. 2
OR

(b) Differentiate between Rabi and Kharif cropping seasons. 2

How can a nation achieve a balance between economic growth and

environment sustainability ? Explain by giving any two arguments. 2

SECTION - C (5x3=15)

(Short Answer Type Questions)

(a) How was the ‘Silk Route’ an example of vibrant pre-modern trade ?

Explain. 3
OR

(b) How did food promote long-distance cultural contacts in the

pre-modern world ? Explain. 3
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26.

27.

28

29

30

“vrd <hl Tfg 31oe fafmior S 1 sem 3 38 fafaear o & fafga 8 17 39 weA
! TETT 38U | 3

w

Alehas H USTHIfeeh gal gry TIuTE S sttt foreal i foreiieTia <ht samen shifs |

. ¢9 % 31Tk forenta T R0 % HEw hl 9@ hifvu | 3

. hT ST § el & hl Ush Hewqul YfHehT 7 |7 ¢feh Sfiad % ISTEl < 9Ty
39 YA I g HifT | 3
T Ug - (4 x 5=20)
(ErH 3T 99)

. (a) “Hcamrg %1 MEiETd fomm, g i vk 3R I S Rg gad mad car ® 17
3TEWT AfEd 39 U shl ST I | 5

3AYdT

(b) S~ed! adt % fer T vyra & fafy= Tyer, &= a1 YTt & deg 3TenT -3
TG - AT 3TIU 1 HTF hel frehfira foham 7 STeXvl Hfed Sare shifs | 5
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26.

27.

28.

29.

30.

“India’s prosperity lies in expanding and diversifying its manufacturing

industries.” Justify the statement. 3

Explain any three responsibilities carried out by the political parties in a

democracy. 3

Examine the significance of credit in economic development of the

country. 3

“Tertiary sector has a pivotal role in the economy of the country.” Support

your answer with day-to-day examples. 3

SECTION - D (4 x 5 = 20)

(Long Answer Type Questions)

(a) “The Gandhian idea of Satyagraha, emphasized the power of truth
and struggle against injustice.” Explain the statement with

examples. 5
OR

(b) How did people belonging to different communities, regions and
language groups develop a sense of collective belonging in the late —

nineteenth century India ? Explain with examples. 5
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31. (a)

(b)

32. (a)

(b)

33. (a)

(b)

“Zo1l TRV ST TITd Fdq YU HAT hT TEEqUl YR 8 |7 IS afgd 39
T h1 STEAT HINT |

YT

“Fott G} ToramenetTdl o foTU 371w 8 |7 3CTEW dfed 39 o ohi T HIfT |

AR T fohH T TS § sga & 2 fergetmor shifst |
3AYAT
Alehds fore Tehr FTETISTeR ferfererdt sl gHmIRTd shtar & 7 fergermor Hifdg |

“TTeRTeh! T oYl 31 98 &T e & 8- ovel 1ol o TR i et foram |
39 YA I IeTEWN Higd AT HIT |

e
“foreeft SR e fageft framr Hifoat, Serietor 3R Jveieto & g § |7 39
I IETE0TT |l ST HIRT |

T g - (3x4=12)

(G- )

34. TAfIRad |id 1 9feu TR Iqeh Tl TG T 791 o I FARa :

o1 3R wfeee

gfod w1eg 61 dTehd T ST ThER THR GRT I5eh! G T ht hifren & firerar
2 | 3Nuftafirs weme gRen YRd | W g8 aum feRarel TR wH-ufeRrstl W sk
TEAT 9T 3R 39 1 a0 e o fofd siga | g uTia s o |
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31. (a) “Promotion of energy conservation is important plank of sustainable

energy.” Explain the statement with examples. 5
OR
(b) “Energy is required for all kinds of activities.” Explain this statement
with examples. 5
32. (a) Democracy is a better form of govt. than dictatorship. Analyse. 5
OR
(b) Democracy accommodates social diversities. Analyse. 5

33. (a) “Rapid improvement in technology has been one major factor that
has stimulated the globalisation process.” Explain the statement

with examples. 5
OR

(b) “Foreign trade and foreign investment policies are the aspects of
liberalisation and globalisation.” Explain the statement with

examples. 5

SECTION - E (3x4=12)

(Case Based Questions)

34. Read the following source and answer the questions that follow : 4
Print and Censorship

The power of the printed word is most often seen in the way governments
seek to regulate and suppress print. The colonial government kept
continuous track of all books and newspapers published in India and

passed numerous laws to control the press.
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35.

g fovagg & S, WRA @1 Fem o d8d, 22 IEeRi i S ol uel off | 3 d
18 5 THRT ST A ! S8 g I 8¢ L o1 3fad Tl | Toie o 1€ R
wgaa afrfa 3 1919 ¥ fafy= sraeami & Raes SEiT anfe st &1 3t aed 54
fem | Tt fovagg <t SEeTa W, vt e sifafrem urftd feman o, arfes Jg-waeh
ot 61 TR fopam ST Uk | R BIST g ¥ St auTH W E % dgd HeR B!
off | 37T 1942 T ThIaA 90 TGS T gHA foharm 1T |

(34.1) 3T TRHR TRAT THER-TET T TR T o ToTu 1 alieh 1o oft 2
(34.2) ST TR ST A Y9 I HH g foha 2

(34.3) TUER-UA W ‘S AHfd’ o THE] 1 foeryor Hif |

freferRaa & w1 ufeu 3TR 39eh = feu 7 et o 3T e
e QAT

FISHeH e 8 9§79 (TSR) Teh Hewqul SiTett SSfd & | 1973 H JTfeehiia 4 wrn foh <1
T 204w % TR | STE Y T JHIHT T@N 55,000 | T U 1,827 & T8
2 | SITEIl <hl AR 3T TR o ToTU 3139 fRTehR ST, ST Trel o1 faepe, HieH
T STTawareh SATE IUSIaRl shi HEAT A BH1 IR SHEEAl H gig STHl ohl Hedl §&
& SR g | STEl 3hi WISl 1 AR, 3T ITeh! BT ol TR < H WHRETd STSfer |
RIFT < SRYT IE ST o B 31 TR T g 718 & | <ok WA 3R a1t gl <ht Q- faars
STl <l ST 3T HET &, 3Td: I ¢ & FIEhR, AR IR TR-HIH SATIR i FTeli b
g R w # |

o TR forva ot Sgale o= Sia IiEieHTST H O U § 3T 3Heh! J83T1d 1973
3 58 | STE TG0 W Ueh Hehalel Sofifcl shi Sl sh1 SRITE T 8, 3AfUq $Heh! 36 wgd 52
3R o SSATT <l fl SMT & | STATEUE | e T 3T, Ufean et H Feed TEA
UM, TS Y H SHaTE TP 3TH, TSR H Giwshl 91 S 93f98R (sanctuary),
IEm ° qHE 919 {Ed (reserve) 3 e § UNER &9 {6 (reserve) WA T &9
TEEToT GRS o $ ISR R |
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During the First World War, under the Defense of India Rules, 22
newspapers had to furnish securities. Of these, 18 shut down rather than
comply with government orders. The Sedition Committee Report under
Rowlatt in 1919 further strengthened controls that led to imposition of
penalties on various newspapers. At the outbreak of the Second World War,
the Defense of India Act was passed, allowing censoring of reports of
war-related topics. All reports about the Quit India Movement came
under its purview. In August 1942, about 90 newspapers were suppressed.
(34.1) What method did the colonial government employ to keep track of
Indian newspapers ? 1

(34.2) How did the colonial government’s laws affect the press ?

(34.3) Analyse the impact of ‘Sedition Committee’ on Newspapers. 2
35. Read the following source and answer the questions that follow : 4
Project Tiger

Tiger is one of the key wildlife species in the faunal web. In 1973, the
authorities realized that the tiger population had dwindled to 1,827 from an
estimated 55,000 at the turn of the 20th century. The major threats to tiger
population are numerous, such as poaching for trade, shrinking habitat,
depletion of prey base species, growing human population, etc. The trade of
tiger skins and the use of their bones in traditional medicines, especially in
the Asian countries left the tiger population on the verge of extinction. Since
India and Nepal provide habitat to about two-thirds of the surviving tiger
population in the world, these two nations become prime targets for
poaching and illegal trading.

“Project Tiger”, one of the well publicised wildlife campaigns in the world,
was launched in 1973. Tiger conservation has been viewed not only as an
effort to save an endangered species but with equal importance as a means
of preserving biotypes of sizeable magnitude. Corbett National Park in
Uttarakhand, Sunderbans National Park in West Bengal, Bandhavgarh
National Park in Madhya Pradesh, Sariska Wildlife Sanctuary in
Rajasthan, Manas Tiger Reserve in Assam and Periyar Tiger Reserve in

Kerala are some examples of the tiger reserves in India.
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36.

(35.1) ‘ST" UREAISHT < ST TRET o foTC Ueh Hewaqul shed @i HIHT TR 2
(35.2) Sfversh s STeTd) § Wi 3 @ ftrent fvrg 2

(35.3) T ST SISl b foTq Tohrl &1 T @] o1 3eeid hilT |

Fr=fefiga ara =1 afew 3t e Fi= feg T y9a1 o 3 fefau
W <ht s ferfereran

T | ferat wreTd 8 2 38enT SiaT 39 o1 91 R wtar 2 fop 3mg wmwnai 6 e

ope 8 Xd 2 | 39 IR ¥ 31¥ehd FHaH A1 2011 3 SHIVET & SAfhel 9 gIEe

B & | 38 SEOAT H AR A 1300 § SATGT 3TTHT- 3TN HTNIST i ST HIGHTST 6 &9
T gol HURAT AT | 37 WIS 1 $© TY@ WIS 5 T TYEeg L T g | J-
wrorgll, T, JeeTed, Tefiendl, Toer o Te & gl wsit R % st e
foram e % | Ve Tagegar % wie ot SEvET 121 yg@ wiend ot T | 3 22
VI3 ST AR Gfaer 6t smedt st # w@n mn g 3R 3w s 3% ey
WITY 3T ST 2 | STehl o1 TR- TG W' *hagd & | Wi o feme § Wia g
Gvad: oY saTel fafagar aren ¢ g |

(36.1) 2011 Sh1 WTA <! SIUMT H feheT WTNT3T 31 HIGHTST < &9 H Gf fohal TIT ?
(36.2) SIUMT FHIE § WIS i ohdl Tg foha T 2

(36.3) WTNI3Tl T WRA I 3T S H iyt g1 Wi fafgerar # fha yer
e &l 8 2 e Hif |
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(35.1) Why was ‘Project Tiger’ considered a significant step for Tiger

Conservation ? 1

(35.2) What role did India play in the global tiger population ? 1
(35.3) Mention any two major threats to the wildlife species. 2

36. Read the following extract and answer the questions that follow : 4

Linguistic diversity of India

How many languages do we have in India ? The answer depends on
how one counts it. The latest information that we have is from the Census
of India held in 2011. This census recorded more than 1300 distinct
languages which people mentioned as their mother tongues. These
languages were grouped together under some major languages. For
example, languages like Bhojpuri, Magadhi, Bundelkhandi,
Chhattisgarhi, Rajasthani and many others were grouped together under
‘Hindi’. Even after this grouping, the Census found 121 major languages.
Of these, 22 languages are now included in the Eighth Schedule of the
Indian Constitution and are therefore called ‘Scheduled Languages’.
Others are called ‘Non-Scheduled Languages’. In terms of languages,

India is perhaps the most diverse country in the world.

(36.1) How many languages were recorded as mother tongues in the

2011 Census of India ? 1
(36.2) How were the languages grouped together in the Census report ? 1

(36.3) How does the inclusion of languages in the Eighth Schedule of the

Indian Constitution contribute to linguistic diversity ? Explain. 2
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QUg - (2+3=5)

(AT IeTe STETRA T9)

37. (a) TeU U vRE % Tifoe ET-aHfea o 9 €IF A 3K B % 9 o guiv T § |
freafafiga Sl <6 Tgrdn 9 3= YT 37T 39k T8l A8 3k gHig Eis T

@3t v fafae 2x1=2
() T8 TIE el St 4 FH e e | 1
(i) o8 T STET YR TP S T M9 1920 H 53T | 1
(b) WA % 3ET ToHIfaeh W@T-gHtE W frefafaa 8 @ f6d & = sugs el 3
gaIEd 3R 3e T forflam 3x1=3
(i) G — S 1
(ii) SHoTIeRRH — TTHTY] el T 1
(iil) STCE — AR SENfeh! ureh 1
(iv) FHTST — S Ff o 1
e : FrferRad e e gt wlenfia & fog wer den 37 F Wm W R | 5x1=5
fopgt it Tt & SR Ao
(37.1) 38 ¥AW 1 9 foARau ST refisht 3 0 S el | 1
(37.2) 39 TJM w1 A feTRaq &7 TR TR S T ATEIH 1920 T g3 | 1
(37.3) 38 U=g 1 T ferfay et fogdt afu feaa 3 | 1
(37.4) 38 TS 1 1 TIRGT T Hetuany TTETT] SHoll 997 fR@A 7 | 1
(37.5) 38 TS 1 1 fIRgQ &7 ATt At o< fa & | 1
(37.6) 3 T 1 T8 feAfaw STeT srefE dtes Srenfisht urh srafeed 7 | 1
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SECTION - F (2+3=5)
(Map Skill Based Questions)

37. (a) Two places A and B have been marked on the given political outline
map of India. Identify them with the help of the following
information and write their correct names on the lines drawn near
them : 2x1=2
(1) The place where Gandhiji broke Salt Law. 1
(i1) The place where the Indian National Congress Session was held

in 1920. 1
(b) On the same political outline map of India, locate and label any
three of the following with suitable symbols : 3x1=3
(1) Salal-Dam 1
(11) Kalpakkam — Nuclear Power Plant 1
(i11) Bengaluru — Software Technology Park 1
(iv) Mormugao — Major Sea Port 1
Note: The following questions are for Visually Impaired Candidates
only in lieu of Q. No. 37. 5x1=5
Attempt any five questions :
(37.1) Name the place where Gandhiji broke Salt Law. 1
(37.2) Name the place where Indian National Congress Session was held
in 1920. 1
(37.3) Name the State where Tehri dam is located. 1
(37.4) Name the State where Kalpakkam Nuclear Power Plant is located. 1
(37.5) Name the State where Mormugao Sea Port is located. 1
(37.6) Name the State where Bengaluru Software Technology Park is
located. 1
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RIS 'qﬁ&ﬂ?ﬁ YI-UF hIg hl IT-YETeh ‘é;'
Roll No .
- i i S i :gr@ ~U8 W 37E% [T | :

I | | I i . i Candidates must write the Q.P. Code}
—————————————————————— . on the title page of the answer-book. |

FYT T H A 19 36 Fo7-77  Jizd 75 32 (AT aled) & |

FHTIT T A 19 59 FoA-TT 5 37 Fo7 8 |

Fo-T7 H §lie &7 1 3R 15T 1T 59777 I %] FH&Te IR Gi] & Jea-958 R o7 |
FHYIT J57 HT T [eTGT Y& I3 G 7807, FTR-YIIHT 3 37 BT 1% ST 1078 |

§F F¥7-7 B1 Y57 & 70 15 1472 T T8T 1397 7377 & | F97-97 &7 9y garg 4 10.15
& 637 T 1 10.15 FF @ 10.30 T 7% GO Faet J97-T7 &1 987 37K 39 3 &
GRT & IT-GIeThT T HIE I 781 o7& |

Please check that this question paper contains 32 printed pages (Including
Map).

Please check that this question paper contains 37 questions.

Q.P. Code given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please write down the serial number of the question in the answer-book
before attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
candidates will read the question paper only and will not write any answer
on the answer-book during this period.

OLd0 LGS EATRIC) ohdo

=

[=]*: SOCIAL SCIENCE =3
fagiRa aaa: 8 gv2 HI&FTT 5% : 80
Time allowed : 3 hours Maximum Marks : 80

32/3/1/22/AABB1 BRBI:N Page 1 of 32 P.T.O.




T e
FrafeRaa Rt =t emydes ufe it 3T uem Hifvre ;
(i) 3GIH-9T 737 57 & | Gt 397 317 &
(ii) Jo7-97&: GUSI 7 [l 8 —@UE®, @, T, ¥, a7 /
(iii) @S F — 557 G 1 & 20 Tglasheis JHR & F97 8 | 4% Fo7 1 3F 18 |

(iv) T8 G — J97 G 21 @ 24 3717 TG~ FhR 3 F97 & | §odeb J97 2 3] H & |
57 Y991 7 3T 40 Ieg] G 3717 787 or@r S7 F1iza |

(v) UG T — J97 GEIT 25 & 29 TG-ITT FHR & F97 & | 5% 97 3 371 #1 8 | 57
91 BT I 60 F5G] & 31 &7 1o7@T Tr7 FeT |

(vi) GUEH — 97 &7 30 T 33 FH-IT1T JHR & Y97 & | I9b F97 5 bl H71 8 | 57
J991 H7 I} 120 JIsc] & 37erk 7871 for@r 7 =z |

(vii) GUE F— J97 G&IT 34 T 36 FT-3NETRA/ Fla-3enia 397 8 74 8 37-37 & /
eI J97 4 b BT 8 |

(viii) @UG T— J97 G&IT 37 HIAIA HI9cT HTENRT 597 & 5758 @ 977 8 — 37 (a) 3/A59
(2 37%) 337 (b) YTIT (3 37%) | §T T T 5 IHHE |

(ix) 3GF STARFT, &7 § 1 G Temer] & 107g Bl 97 FrH1=7 37 STERT
1 & T W T 3 T 1697 T & | §7 Fe] & I HIA GIRNET TG &
7@ |
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General Instructions :

Read the following instructions carefully and follow them :

(1)
(i)
(iii)

(iv)

(v)

(vi)

This question paper contains 37 questions. All questions are compulsory.
Question paper is divided into SIX sections — Section A, B, C, D, E and F.

Section A - Question numbers 1 to 20 are Multiple Choice type

questions. Each question carries 1 mark.

Section B — Question numbers 21 to 24 are Very Short Answer type
questions. Each question carries 2 marks. Answer to these questions

should not exceed 40 words.

Section C - Question numbers 25 to 29 are Short Answer type questions.
Each question carries 3 marks. Answer to these questions should not

exceed 60 words.

Section D — Question numbers 30 to 33 are Long Answer type questions.
Each question carries § marks. Answer to these questions should not

exceed 120 words.

(vii) Section E — Question numbers 34 to 36 are Case-based/Source-based

questions with three sub-questions. Each question carries 4 marks.

(viii) Section F — Question number 37 is Map Skill based question with two

(ix)

parts — 37(a) from History (2 marks) and 37(b) Geography (3 marks). This

question carries total 5§ marks.

In addition to this, NOTE that a separate question has been provided for
Visually Impaired Candidates in lieu of questions having visual inputs,
Map etc. Such questions are to be attempted by Visually Impaired
Candidates only.
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T UE - % (20 x 1 =20)

(Sgfarehed 1™ W)

1. Tafafiea 59 gare et 1 M foher fora ?
A) wEel ol
(B) dmsTs f3re
(C) =T THHIEA T
(D) =g

2.  ¥-1 1 e w9-11 ¥ HIfST 3T 98 forehed o1 === hifST |

W -1 ks g |
(|13) (STRTeT)
L. NI a. A

11. CNI b. a:IISZ
NIEREELUEED c.  SleETge

AR d. L
e

I 1I 111 1A%
(A) b d c a

(B) d c b
(©) a b d ¢
b

D) ¢ d
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SECTION - A

(Multiple Choice Questions)

1.  Who among the following published ‘Samvad Kaumudi’ ?

(A) Rashsundari Debi

(B) Tarabai Shinde
(C) Raja Rammohan Roy

(D) Ram Chaddha

2. Match Column-I with Column-II and choose the correct option.

Column-I
(Minerals)
L Ferrous
II.  Non-Ferrous

III. Non-Metallic

IV. Energy
Options:

I IT
A b d
B d c
C) a b
D) ¢ d

32/3/1/22/AABB1

III

Column-II

(Examples)

Coal
Granite

Bauxite

Cobalt

v
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3. R HH TR | ¥ e (A) 3T SR (R) § | SHT ST 1 9o 3R W %
foTu 92t forehed o1 == HIfT

AN (A) : T I IgA T Teh Yoo T TcTors- TTiua febam 71T |

HIO (R) : I UhIhd Tk & % Toid 6t a1d off &t awgaii, A 3R deft 1 smarm=
YR(Ed &l |

fawea ;

(A) (A) 3 (R) T 721 & 31 (R), (A) I o e # |

(B) (A) 37 (R) <HI @& & oifeh (R), (A) Y et =ame 2T 2 |
(C) (A) & 8, Wq (R) T & |

(D) (A) Tod g, g (R) T2 |

4. Trafafga foemeai 0 @ sfcom 4 g1 gl <gwRn & Tfs 3e9a il ugaH
HIfST |

(A) TN I ThIcHeh €I LAY HET |

(B) TN T hraiehd TSI =0 |
(C) S GRehieh TR JfeFeh AT ehl TATIT |
(D) 913 3TN &ET f&di ol FHRING T |

5. T=faftad W & SHH-|1 T YHE@ Heheleh & et 3uanT forell o2 < forepr =1 A0 %
fore fepar T 2 2
(A)  Srfies IeaTe (B) fediere sedre
(C) Hehel BT 3cUTG (D) G T 3G
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3. Two statements are given below. They are Assertion (A) and Reason (R).

Read both statements and choose the correct option : 1
Assertion (A) : On Prussian initiative “Zolleverin’ Custom Union was formed.

Reason (R) : It was to create unified economic territory allowing the

unhindered movement of goods, people and capital.
Options:
(A) Both (A) and (R) are correct and (R) i1s the correct explanation of (A).
(B) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is wrong.

(D) (A) 1s wrong, but (R) is true.

4. Identify the primary objective of power sharing arrangements in Belgium

from the following options. 1
(A) Establishing a unitary form of government.

(B) Centralized political control of government.

(C) Establishing cultural and educational matters of Dutch.

(D) Accommodating linguistic and regional interest.

5.  Which of the following is a key indicator used to measure a country’s

development ? 1
(A) Primary Production (B) Secondary Production
(C) Gross Domestic Product (D) Net Domestic Product
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6.

“geff s | U sitg e o femati ® et |

e thoTld o fAHTTRad son 1 ufeu 3R He foehed 1 =9 HifvT |
I. Rl EH-SGH o SR

1. e AT % HR0

IT. SR 3T GHTAL o SR

IV. JUUETTE o S8 o R0l

fapey
(A) HaAa I, II3NIVEL T | (B) whad I, III 3R IVHE B |
(C) Haa [ IIIMIMNTE 2 | (D) HaA L IIIWIVHS S |

YRR TP Ao ¥ Fefed FreferRad ge1shi s Siersraar Safer hife i
&I foreheq o1 = I |

. U9 UKT &l TeA
II. YA TEE HUH T AR JTREIH

III. eft-3fem gmehan

IV. gftrd ot weifiesH ot wemdn

forepeu

(A) ILIIL I 3R IV B) I, 1L, IV 3R III
(C) L IIL II3RIV D) IV, I, 3R]

ffcTRaa o § SH- R=rs womet geem H g 7
(A) I STETA o HEH | i 6 =TS & |
(B) féams % fore st wra et <t SR e |
(C) ot & urft feprer |

(D) sfe fau s st 1 SRt e |
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6. ‘Buddhism emerged from eastern India and spread in several directions.’ 1
Read the following reasons for its spread and choose the correct option.
I.  Due to Cultural exchange
II.  Due to Silk route
III. Due to trade & travellers
IV. Due to European efforts
Options:
(A) Only I, IT and IV are correct. (B) Only II, III and IV are correct.
(C) Only I, IT and IIT are correct. (D) Only I, IIT and IV are correct.

7. Arrange the following events of Indian National Movement in
chronological order and choose the correct option. 1
I.  Formation of Swaraj Party
II. Lahore Session of the Indian National Congress

III. Gandhi-Irwin Pact

IV. Formation of Depressed Class Association

Options:
(A) ILIIL,IandIV (B) I,II, IV and III
(C) L III II and IV (D) IV, I IIand]I
8.  Which one of the following is the irrigation system in Meghalaya ? 1

(A) Toirrigate land only during rainy season.
(B) To use large volumes of water for irrigation.
(C) Toremove water from soil.

(D) To use bamboo drip irrigation system.
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9. frafafaa SerifE <l ufeu 3T wEe i vg=™ i |

o ITYNA H IFTRIH AN hl TG W o ¢ |

o YA 38 HEA I GHU T TSI ITGH ¥ 8 |
° %@WW%|
o 3O 3R AT % T 100 T} ANk 9T hT SATATIHAT BT 2 |

By :
(A) i
(B) s

(C)

(D) =mEa

10. &9-1 1 firem wqu-11 9 hifsre 3t fefafga 8 9 9 faereq w1 == hifse

w1 @y - 11
(el wfaem = fort i g=) (ferser)
I Flﬂlfﬁ a. ?31&@_’[
I T b, S
T01,  Seer gt c. U
v, = g fowai 6 g d. 3R
ﬁw:
I I I IV
@ d a c b
B) b c a d
€ a b d c
D) ¢ d b a
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9. Read the following informations and identify the crop.

It 1s the staple food crop of majority of people in India.

India is the second largest producer of this crop.

It 1s a Kharif crop.

It requires high humidity with 100 ¢cm of annual rainfall.

Crops:

(A) Ragi

(B) Bajra

(C) Wheat

(D) Rice

10. Match Column-I with Column-II and choose the correct option from the

following :

(Subject List in the Indian Constitution)

L
II.

III.
IV.

Column-I

Union List
State List
Concurrent List

Residuary List

Options:

I II 11 v
(A) d a ¢
(B) b C a
C) a b d c
(D) ¢ d b a
32/3/1/22/AABB1 Page 11 of 32
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Column-II

(Subject)

Trade Union
Banking
Police

Internet
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11. Tafaftad sedi 4 4 -9 wlee axrfadson 1 qed 39gad 9uE & 7
(A) T 1 TG HT YT TG o fere e e |
(B) TN T Hfgenaii i S bl q@Ta o |
(C) afgemmait = fore Tmm s1eer 3R iR gifeed e |
(D) |t &1 o TN b IATURRT I T HET |

12. T ga a1 o Uid SiaTecs! e giHfeaa td @ 7 Fefafad § 9 998 3ugs

ferehe o1 T I |
(A) UH HISHT S HILH T
(B) @t Hifgan gfew o qem @

(C) UATCTRSH o HTeH o
(D) TATE 3R TACTAIAT o TH o 1T &

13. ishad o Tey 4 Frafaad sl o1 ufeu 3R T2 faehed &1 = Hifu |
I.  ATTReht B HT ST
II. $® AN gRI TR SHHT
III. A AR T TET0T HEAT
IV. T3 3iR dqem SIawen s
forehen
(A) 1,113 III
(B) IIL III3WIV
(C) I,II3WIV
D) I, 13RIV
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11. Which one of the following statements, best describes women empowerment ? 1
(A) Encouraging men to take leadership roles.
(B) Promoting superiority of women over men.
(C) Ensuring equal opportunities and rights for women.

(D) Limiting the rights of men in all spheres.

12. How do Political Parties ensure accountability to the public ? Choose the

most suitable option from the following. 1
(A) Through Press Conferences

(B) Through Social Media Campaigns

(C) Through encouraging Partisanship

(D) Through Elections and Voter Support

13. Read the following statements regarding democracy and choose the

correct option. 1
I.  Promotes equality among citizens

II. Government by few individuals

III. Protection of human rights

IV. Ensures checks and balance system

Options:

(A) I, II and IIT

(B) IL III and IV

(C) I, IITand IV

(D) 1,1 and IV
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14. 5 3R TSI &= fo@mG] 6l Gersi o fog Fefaied § § s MEgR g ?

(A) YR forr 3=

(B) W o1 A= =TI

(C) W =1 TUgufd

(D) WA o1 T

15. Tr=fciRad # & s -4 oveiehion i Teh Hewyul Tae & ?

(A) AN HEHId
(B) UHTaRr EHeH

(C) =T ISR 1 THeH

(D) USSR T U5

16, Freferhad § & ‘Ao g % Forq - whemy gete & 7

(A) e T I IR e

(B) wTd ¥ 3T 359 31fereh o AT § |1&R SHEAT T STUTA

(C) T & T Thel T dTct =l o et T

(D) T & T Tholl hl ST T
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14. Which of the following is responsible for resolving disputes between

Centre and States ? 1
(A) Finance Commission of India

(B) Supreme Court of India

(C) President of India

(D) Prime Minister of India

15. Which one of the following is a significant aspect of globalisation ? 1
(A) Uniform Culture
(B) Environmental Support
(C) Support to Domestic Market

(D) Access to New Markets

16. Which one of the following definitions is most suitable for the ‘Literacy

Rate’ ? 1
(A) The literate population at the global level

(B) The proportion of literate population in the seven years and above

(C) The total number of children attending school in a region

(D) The average number of schools in a region
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17. <= & 7is arfetert o1 erYdes 31eeH Hife 3R 35es e feu wed 1 I i |

e | oA TP o (... Mo AR | fove ® A o gueie
SfEh Sier o (2011 569 e &mar) | (HDI) =T shHTh (2018)
A 12,707 73
B 6,681 130
C 4,961 148
D 5,005 154
E 3,457 143
F 4,976 134
Freferiaa <uni # & fopeent fava § wia forehmd gaehies 1 hHTeh a8 3T(UH § 7
(A) WA B) wC
(C) <D D) o E

18. feu w3 & for =l ufeu | feu o foeredt § @ <o TR hl wg=H $ifve

Q\-;.:"\‘g-J{J Rsiw/pate 19/ 6 /2016
V/d
X/ pey PREM  Kkumar
s e a7 &7 B} Or Bearer
=0 Rupees  JHfly Seven Fhsus ﬂ““?'.
. — 5.Rs. 53000/
16137926023
A ©e & .
State Bank of India : Sa.“/"'_f‘"
S e 70
b ARG,

*3ig2255* 1i0002078«w 000343 10

(A) 362255 (B) 110002078
(C) 000313 (D) 16137926023

Trfafaa we Shae giEaTiém wheiia & foe T semn 18 F MW R :
frerferfiga o @ oW |1 WK 3 s/ 1 =i a8 ?

A f= (B) ¥EHhR
(C) ¥ (D) fEaer
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17. Study the table given below carefully and answer the question that follows. 1

Country | Gross National Income (GNI) | HDI Rank in the
per capita (2011 PPP $) world (2018)
A 12,707 73
B 6,681 130
C 4,961 148
D 5,005 154
E 3,457 143
F 4,976 134

Which of the following country has high Human Development Index Rank
in the world ?

(A) Country ‘A’
(C) Country ‘D’

(B) Country ‘C’
(D) Country ‘E’

18. Read the image of the cheque. Identify the cheque number from the given

options : 1
Q\q}\‘?-/{" Rsiw/pate 19/ 6 /2016
¥/ pey PREM  Kkumar
/ = ,,“A,, a7 & Bt Or Bearer
ﬂ{.}«., Jevern JHpus ~
. — 5.Rs. 53000/
16137926023

YA @ & :

State Bank of India O Sal;.w

n_zwurrmm ;

L

*3L2255* L30002078% 000343e D
(A) 362255 (B) 110002078
(C) 000313 (D) 16137926023
The following question is for Visually Impaired Candidates only
in lieu of Q. No. 18:
Which of the following is the formal source of loan in India ? 1
(A) Friends (B) Money-lenders
(C) Banks (D) Relatives
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19. frfafaa o & form smum o s, fadiees TR qodierss &=l w1 ater smar g ? 1
(A) TSATT 6T B
(B) Tfafatert s wehid

(C) AT shi hfd

(D) 3T i Tl

20. Trefcriiaa & & -4 o <2 H 5T I S Ll & 3N F0 JUTell &bl FRbasaars 7 1
(A) TS A9 5
(B) st s
(C) WRd feid s
(D) L S 3T e

qE-g (4x2=28)

(AT erg -3 W)

21. TiTed! Td) % TRH W IUHETET SATITRER Jeaeh o foTe fohd TehR Tgwarqul o 7 ¥g
Hif |

22. (a) Wi Frfieror ) TaE i &6l T % fIe g <1 adien! w1 Gemsy | 2
JAYAT
(b) HETEAT % TEET o foTu foheell g1 iehi o1 g €T | 2
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19. Primary, Secondary and Tertiary sectors are divided in which one of the

following basis ? 1
(A) Nature of employment

(B) Nature of activities

(C) Nature of ownership

(D) Nature of income

20. Which one of the following banks in India controls the issuance of

currency and regulates the credit system in the country ? 1
(A) Punjab National Bank

(B) Indian Bank

(C) Reserve Bank of India

(D) State Bank of India

SECTION - B (4x2=8)

(Very Short Answer Type Questions)

21. How was the Indian subcontinent crucial for the trade network during the

sixteenth century ? Explain. 2

22. (a) Suggest any two ways to solve the problem of land degradation. 2
OR

(b) Suggest any two ways for the conservation of resources. 2
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23. HYH Y T wRiRT (I.0H.€L11.) w1 o Amvee fova 5% 9 fre TR e & 7
Y $ifv |

24, ‘Tl TorRfa & wfgerati Y et -+t 5g W R | 30 FHem I gwg Hifv |

Qg - T (5 x 3 =15)

(STg-3T 99)

25. (a) ST % Tehlehtul <hl Ifsha o1 fargeioor <HifSu |

YT

(b) 3T & TSHIHIUT <hl Ufsha o1 fergeiwor i |

26. “FEAT TRNAEHT 3R gorareif-eh e & Heeaqul TWTe & RO YA <hi fershrar wfsham &
TRETH TR R |7 39 Y Wi 3eTe0N Higd T8 HIT |

27. TSHIfdeh Tl o fohal i STt T 9UM <hIfSTT |

28. THE foramT 3N &ftenl & foTu ST=ITies &1 o SRUT ohl 8 ATHRR] ST ST Hehd & 7
WY T |

29. <1 foehmE 3R GuTETeH! § HTdI-eh &1 i YfHeht i @ HITT |
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23. How does the United Nations Development Program’s (UNDP’s)

developmental criterion differ from the World Bank ? Explain. 2

24. “Role of women is gradually enhancing in the politics of the country.”

Examine the statement. 2

SECTION - C (5 x 3 = 15)

(Short Answer Type Questions)

25. (a) Analyse the process of German Unification. 3
OR
(b) Analyse the process of Italian Unification. 3

26. “The development process of India has experienced transformation due to
the significant influence of Information Technology (I.T.) and Electronic

Industry.” Explain the statement with examples. 3

27. Describe any three functions of the Political Parties. 3

28. How can the formal sector loans be made beneficial for poor farmers and

workers ? Explain. 3

29. Examine the role of Public Sector in the development and well-being of a

country. 3
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Qs -9 (4 x 5=20)

(S —3adT 7H)

30. (a) “UE 9gd AR GRplae ARATY off, e G YR TgaTg AT ohl Sheddl 3R
foelT-TemmT W ©1 T |7 36 e ) 3STET |id STe IR |

CUE]]

(b) T IEF e § U o fofi— g fopd wohR wfret & 7 SeTexvn afea
oy I |

31. (a) YR TTEAT H PN o Haw hl HATEAT HIT |
JAYAT

(b) ETHR g fohai o faa o fepu U Tep-fiehl 3T TeemTa G shi Sme hife |

32. (a) CAhaA o TNUTTHI o1 HeoTeh hdl fohdl AT & ? TIE HIT |

3AYdT

(b) “TATehad Ush ST, TR 3T 3¢ MEA 8 |7 39 e 6l ST shilvy |

33. (a) vl T IERETE hl Wikt 1 fageryor Hif |

AYdT

(b)  ATefteRTuT Shl UfshaT 1 Ti=Td s o foTu ferel 9= shren! shl i@ I |
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SECTION - D (4 x 5 = 20)

(Long Answer Type Questions)

30. (a) “There were variety of cultural processes through which Indian
Nationalism captured people’s imagination.” Explain the statement

with examples. 5
OR

(b) How were the various social groups involved in the Civil

Disobedience Movement ? Explain with examples. 5
31. (a) Explain the importance of agriculture in the Indian Economy. 5
OR

(b) Explain the Technological and Institutional reforms taken by the

government in the interest of farmers. 5
32. (a) How do we assess democracy’s outcomes ? Explain. 5
OR

(b) “Democracy 1is an accountable, responsive and legitimate

government.” Explain the statement. 5

33. (a) Analyse the role of Liberalisation in the globalisation. 5
OR

(b) Examine five factors to promote the process of globalisation. 5
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e - T (3x4=12)

(FT - 99 )

34. T g 1 ufeu 37t soes A= feu e yeat o 3o forflan 4
AGEL A ?

QAT & HIUTST Freeh YUTE FET 1 T JEER (i1 918d 8, e saH™
Teoraredt Y 0™ ITATT e 1 S8 e b | 398 Wt IYAAT, IS
QAT & AT M- Toran, wifewsht, e, ew & fafv fewdi & sR 4
AMAR W, IR TP W FEAR W AT &Y. T a9™ AN 8 Hee AR
T 1 faeT 8, It I % TR 3R SHHed & g6 & |

Fitq 2HAITE TS HIRI, 6 71, 1849

St AR IR TsHIfasw aTeil 61 a8t et gidl 8, St $70is & =39 3
SH-4 | faug i gidt 8 | I T a8 wert Aifaal 1 rereATcTs gt
A & Tga ares & arem feemi 1 fepret 31 U &, q91 61 dsit § AN A
HTHE R |

3T A3 B AR 6 & QI & W {EI W AHT A ht FIATE ST HL A HT
GWg 3R Fifod GUR 8, 98 Sa1E, 9 I BT ST 1&g |

Ffeq sifafaaa, 3 srie, 1870

(34.1) HUST YTV & IWGER YT hid o [TT TUMS gRT SEATrerd T 3 hl

forgersor Hifsr | 1
(34.2) ST ETUTH  GFR &1 oh SHhcATUl ] SET ¢ H ITEER hl YiehT T F i
SR feam 7 1

(34.3) <M AHER-A Sl HH-E ged feriat didt mg 2 i P seom hifor | 2
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SECTION - E (3x4=12)

(Case Based Questions)

34. Read the following source and answer the questions that follow : 4
Why Newspapers ?

‘Krishnaji Trimbuck Ranade inhabitant of Poona intends to
publish a Newspaper in the Marathi Language with a view of
affording useful information on every topic of local interest. It
will be open for free discussion on subjects of general utility,
scientific investigation and the speculations connected with the
antiquities, statistics, curiosities, history and geography of the
country and of the Deccan especially... the patronage and support
of all interested in the diffusion of knowledge and welfare of the
people is earnestly solicited.’

Bombay Telegraph and Courier, 6 January, 1849

‘The task of the native newspapers and political associations is
identical to the role of the Opposition in the House of Commons in
Parliament in England. That is of critically examining
government policy to suggest improvements, by removing those
parts that will not be to the benefit of the people, and also by
ensuring speedy implementation.

These associations ought to carefully study the particular issues,
gather diverse relevant information on the nation as well as on
what are the possible and desirable improvements, and this will
surely earn it considerable influence.’

Native Opinion, 3 April, 1870

(34.1) Analyse the primary objective proposed by Ranade for publishing
Marathi Language newspaper. 1

(34.2) Why did the Bombay Telegraph emphasize the role of newspaper
in promoting welfare of Deccan region ? 1

(34.3) What were the key responsibilities attributed to mnative
newspapers ? Mention any two. 2
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35.

36.

farerforitad €ia w1 ufen 3R 35 = feu 7w gt o 3o fetfian

afert Ut o gege-Tafae ik gew sfaat it dufy
Wi ST YSIT |ieT GUAT SN fovame 8, frest SR wehid 3 & &9 6t & wE
2 | 321 fowamt 3 faftmr =91 =t go v et w1 sore @ g, 7R afa ast %
e (Sefi—<Taratt o a9) Had & | 91 o T WFN § AT A 941 b U S WO H A"
AN & gud a2 | g foret 3R i Seute i 4 |
Fo TaN 56 fadw Ut <l Ton e § i e @ SR TR FW M R R |
BITHTTY &  GeT 3R TATA FASTIT HESTT T he b Ui <hl Y11 Had & | SNfewm
3t forgr 6t STrmfert e % SR gHet R 3T H Ug < IS w2 | g A Sga
et fuet 3t segw A afm ArFA § |
WA TS | 311 TEepierdl & TR TAh TEHA A Whia R FHh! Hfai i i
H % T IRANED b 8 | AR W 1, T8Ie A, YSi IR 9T Bl qfo=
T ST FEVT T SITAT § | 3T 3 Al o S -I1 Set 3R AR & | T8
3% Raerma-Trerma § it wfer & wari § a8 | Tomeer™ | feig witai & SI|-9m™ 319
e oo, Fesm, e TR ARl & g <@ Wehd & SNl 9@l o HYEH ol AN f&en §
3R IS STh! THAM e 1 IgaTT |
(35.1) Ofcr Ui o UL, STehid shi T 3hi HIIAT & HH TEfd & ?
(35.2) UHSH, Ui I 10T TER{RT | fohet Tehr STt ohid & 7 3eTetT Hfed Tweisy |

(35.3) 3 HREBITeh Yol shi SATEAT SHITT ST Tehid oh HE-HT&dcd H IREH ¢d & |

Frfeftaa ara =1 ufeu 3R 3He = fou e g1 o1 3w fefaw
LEIEGRIED

“HETCHT Tl o FUHI <l TR S 3R 39 Ffae Fiarett i =gl i 10
H % o g garrat @) SRR e Il TG 8 | TR O &) arfeeh dehds i
TTHAT AT & | IS T 39 ATl b gredt | e g e 19l 3 3@ 8 =ifee | weeEr
H H IR TS HIEAT Hl TgH 1 T U YaRal i SR A1 Wt g | 5«
Torspra 1 AT T T IR AR, T H AN ht HEAGRY BFA O I ISHIST TR 6T
Frror s | 3Ed uE ferhferat oY e foma St EeR T | 39 YRR YNt TS SR
ia ! ArEa ST |7
(36.1) U= 1 VTR AT HETCHT et o gfenior & i Trafra 2
(36.2) TETIC! bl Ve & o AT 32T ! TIE HIFTT |
(36.3) =T TS oh) TATAA] SATehaa § h8l ANTEH el & 7 T8 shifdT |
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35.

36.
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Read the following source and answer the questions that follow :

Sacred Groves — A wealth of diverse and rare species

Nature worship is an age old tribal belief based on the premise that
all creations of nature have to be protected. Such beliefs have
preserved several virgin forests in pristine form called Sacred
Groves (the forests of God and Goddesses). These patches of forest
or parts of large forests have been left untouched by the local
people and any interference with them is banned.
Certain societies revere a particular tree which they have
preserved from time immemorial. The Mundas and the Santhal of
Chota Nagpur region worship mahua (Bassia latifolia) and
kadamba (Anthocaphalus cadamba) trees, and the tribals of
Odisha and Bihar worship the tamarind (Tamarindus indica) and
mango (mangifera indica) trees during weddings. To many of us,
peepal and banyan trees are considered sacred.
Indian society comprises several cultures, each with its own set of
traditional methods of conserving nature and its creations.
Sacred qualities are often ascribed to springs, mountain peaks,
plants and animals which are closely protected. You will find
troops of macaques and langurs around many temples. They are
fed daily and treated as a part of temple devotees. In and around
Bishnoi villages in Rajasthan, herds of blackbuck, (chinkara),
nilgai and peacocks can be seen as an integral part of the
community and nobody harms them.
(35.1) How does sacred groves relate to the belief in nature worship ?
(35.2) How do communities incorporate trees into their cultural practices ?
Explain with example.

(35.3) Explain the cultural values that contribute to the coexistence of nature.

Read the following source and answer the questions that follow :

Panchayati Raj

“We need to give more power to the panchayats to realise the
dream of Mahatma Gandhi and the hopes of the makers of our
Constitution, Panchayati Raj establishes true democracy. It
restores power to the only place where power belongs in a
democracy - in the hands of the people. Giving power to
Panchayats is also a way to reduce corruption and increase
administrative efficiency. When people participate in the
planning and implementation of developmental schemes, they
would naturally exercise greater control over these schemes. This
would eliminate the corrupt middlemen. Thus, Panchayati Raj
will strengthen the foundations of our democracy.”

(36.1) How does giving power to Panchayats relate to the wvision of
Mahatma Gandhi ?

(36.2) Explain the primary objective of giving power to the Panchayats.

(36.3) How does the establishment of Panchayati Raj contribute to
democracy ? Explain.

Ja—



Qg - (2+3=5)

(Wt ST %)

37. (a) Teu U wRd % UoHifes WET-amiE W e wH (A) 31 (B) % &9 § €9t U § |

frafafga S} i TR 8 3= dg=T 3R 39 T8l A 3 e Wik 18
@3l W fafen 2x1=2
() 9% T &l AferataTett 9T 6 e =ied & | 1
(i) o8 T STET YR TP S =T MM 1927 H 53T | 1

(b) WA % & Torifeer Yar-arfes W frfafga 3 @ fadi 6 = suges fgl @
g 37N 3 1 ferfiam 3x1=3
(i) el AT — S 1
(i) IUET — ARSI TENTTeh! UTeh 1
(iii) RIYX — TETY] Sl T 1
(iv) efeean —agg oo 1
e ;. Frfefaa e e giaTie e % foe ye7 s 37 S MW E | 5x1=5

Tepei o WAt & I ferfam |

(37.1) 3T TT 1 W TARGT & ST TaTedT ST shi T2 89l | 1
(37.2) 39 TIM 1 A TIRaT &l WA T SR 1 SATLEIH 1927 H 53T | 1
(37.3) 38 U= o1 9 forfgn &t wree-mme sty fea 2 | 1
(37.4) 3| TST 1 T foIRaw &t arigR wamy] Soft o fra 8 | 1
(37.5) TSI FecRR Freifieh areh fohd TS 1 fedra @ 7 1
(37.6) 38 U= o1 4 forfan &t afeean oyl vam feua 2 | 1
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37. (a)

(b)

Note :

SECTION - F (2+3=5)
(Map Based Questions)

Two places (A) and (B) have been marked on the given political
outline map of India. Identify them with the help of the following
information and write their correct names on the lines drawn near
them : 2x1=2
(1) The place where Jallianwala Bagh Massacre took place. 1

(i1) The place where the session of Indian National Congress was
held in 1927. 1

On the same political outline map of India, locate and label any

three of the following with suitable symbols : 3x1=3
(1) Bhakra Nangal — Dam 1
(1)) Noida — Software Technology Park 1
(111) Tarapur — Nuclear Power Plant 1
(iv) Haldia — Sea Port 1

The following questions are for Visually Impaired Candidates

only in lieu of Q. No. 37. 5x1=5

Attempt any five questions.

(37.1) Name the state where Jallianwala Bagh incident took place. 1

(37.2) Name the place where the Indian National Congress Session was

held in 1927. 1
(37.3) Name the state where Bhakra Nangal dam is located. 1
(37.4) Name the state where Tarapur Nuclear Power Plant is located. 1
(37.5) In which state is the Noida Software Technology Park located ? 1
(37.6) Name the state where Haldia Sea Port is located. 1
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e 9. 37 o feluw aHre
Map for Q. No. 37

-z e HRA T ATk AT
POLITICAL MAP OF

INDIA

km Scale : 1:15000.000 km
100 50 0 100 200 300 400 500

====== CptHerg ===========x FEHHp ===———======: Cui Hergl ==—==r====== FPEIPHE ===——====
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e mm e e e == = o ———

Series AB4CD/4 | _Set -1
U i
IEAAMDENNAOAR ar. cote 321411
. _-_-_-----------_-_----___-_:
Roll No. :gﬁ;ﬂ%%ﬁ Wg’%ﬂv—f%:
E_ N 1}_ - 1}_ N 1}_ N 1}_ h 1{_ . 1}_ N 1|_ i _1: ' Candidates must write the Q.P. Code,
Y WU NS NRNREY NRNRE NN NN N :on the title page of the answer-book. |

o FHYI AT F A 1% 3G Jo7-97 4 Jlad §8 25 + 1 THGT & |

o FYA T F T I 5 THA-TTH 37 T8 |

o ¥97-UF H 3Tled &Y F1 IR 15T T Fo7-97 HIE H Tandf IFR-GrEaHhl &
TG-98 W 7@ |

o FTIT T¥T HT IW 7@ & ¥ & Ugel, IW-Yas1 d T97 &1 HHS
VT ford |

o 3G ¥U7-U7 FI Yg7 & 1070 15 1592 &1 GHT [ T & | FeT-9F FH G0
TalE 7 10.15 &9 191 i@ | 10.15 &5 & 10.30 &5 a% S1F Had Jo7-97
P Y57 3N 3G Al F NI & ITH-YIaHT | HIE I 787 17@7 |

e Please check that this question paper contains 25 printed pages +1 Map.

e Please check that this question paper contains 37 questions.

e Q.P. Code given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please write down the serial number of the question in the answer-book

before attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m.,
the students will read the question paper only and will not write any
answer on the answer-book during this period.

Ao fasm= EME

EEGE] e
Eﬁmﬁ SOCIAL SCIENCE %”%
Feiita aa - 3 qu2 SfeHaT 37% : 80
Time allowed : 3 hours Maximum Marks : 80
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T 4397 ;

(i)

(i)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

39 J97-97 H 37 Y97 & | @4t 3o AfHAard & /
J97-97 F: GUSI H [F9157 8- @US &, @, T, ¥, & Tq o/

GUE & — 97 & 1 T 20 TglascTid JHR & J97 & | Ie4% Fo7 1 3% H1 & |

GUS & — J97 &7 21 8 24 37la7 TG-FRIT JHR & T & | I3 F97 2 371 &7
8 | 57 J9] %7 I 40 Jsg] @ 37feres 787 for@r a7 =y |

g T — J97 T&IT 25 & 29 TY-ITIT PR & J97 & | I To7 3 371 &1 8 |
57 Y991 &7 3K 60 Isg] T e &1 forar 7 =ifey |

GUE T - Y97 &I 30 T 33 FH-3509 JHR & Yo7 8 | Iedh J97 5 bl #1 8 |
57 Y991 &7 IX 120 iec] & 37fer 787 forar ST =ifaa |

GUE & — Y97 G&I7 34 T 36 HH-3MIRA/FIa-eRa F97 & 5747 &7 39-397 8 |
Jcdeh G974 371 FT & |

TUE o - Y37 G&IT 37 HIHIET HIVIA-TERT 97 & 58 3t 917 8 - 37 (a) 3z
(2 37%) 337 (b) — YIIT (3 37F) | 3T J97 & FT5 3% & |

$T% 3IaIE, & 3 19 gicanad TGl & 178 Biel To7 Hil=d 3771e TR

Y] & T W U 37 Jo7 1697 T & | §7 FH] & I T glocsyd qieet &
7@ |

Eusg <h

(Tgfereheda o) (20x1=20)
FAfIiad JeTeTl i HICHHATTER SFafedd hifve IR T8 fashed &1 =w=H
Hifrg | 1
I. %™ & i
II. Ui 1 32l W 8Hal
III. STl ohl Tehieh(Ul
IV. foan sufa @ty
Tererew :
(A) L IL IV, III (B) 1L, IV, I, III
C) ILIII IV (D) I IILII, IV
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General Instructions :
Read the following instructions carefully and follow them :

(1)
(ii)

(iii)

(iv)

(v)

(vi)

(vit)

(viii)

(ix)

This question paper contains 37 questions. All questions are compulsory.
Question paper is divided into six sections — Section A, B, C, D, E
and F.

Section A - Questions no. 1 to 20 are Multiple Choice type questions. Each
question carries 1 mark.

Section B - Questions no. 21 to 24 are Very Short Answer type questions.
Each question carries 2 marks. Answer to these questions should not exceed
40 words.

Section C — Questions no. 25 to 29 are Short Answer type questions. Each
question carries 3 marks. Answer to these questions should not exceed
60 words.

Section D — Questions no. 30 to 33 are Long Answer (LA) type questions. Each
question carries 5 marks. Answer to these questions should not exceed
120 words.

Section E - Questions no. 34 to 36 are Case-based/Source-based questions
with three sub-questions. Each question carries 4 marks.

Section F - Question no. 37 is Map skill-based question with two parts —
37(a) from History (2 marks) and 37(b) from Geography (3 marks). This
question carries total 5 marks.

In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
map etc. Such questions are to be attempted by Visually Impaired candidates
only.

SECTION A
(Multiple Choice Questions) (20x1=20)
Arrange the following incidents in chronological order and choose the
correct option. 1
I. French Revolution
II. Napoleon’s invasion of Italy

III.  Unification of Italy
IV. Vienna Peace Treaty

Options:
(A LIIL1IV,III (B) II,IV, 1 III
C) ILILILIV (D) L IILIL IV
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2. T T &l qfd & ol 98 fashed 1 == i |
T ant (fies &) & aRd 9 gforgd uften gfe=m < gEt 9
H uged 9 |
(A)  EH g EE % AT
(B) IS I T
(C) W 9 g™l
(D) &N 9 3= 9rgqu

3. UG & Wd TS Uil & GEUeh ¥ et gt faehed &1 wam i |
(A) U 9g 919 9 TG 8%
(B) AR HUSATH! d TTIHTI TR
(C) HI.3R. TE 9 A T8
(D) HEH e 9 TER 9o

4. fafafes & @ frem a1 6 - “ggu vt A1 § g€ weHaw T R, TEE T
qEwr |7 2

(A) IR W
(B)  WgTcHT TIeht
(C) SIgH A
(D) Twrgedl gl

5. A= & s few w1 A firemed (A) 3 ST (R) B | M1 seEl 1 ufeu
3R Tl forehed w1 =34 SHIT |
T (A) ;- Teaer ° gfg Tous! Tgie &8 &t § a9 $eR Ushd °
hHITH &7 |
FRU(R)  : 39 g TR Wi I S 1 T Hleh ARG
RTuT TR T el SR TR |

forerea :

(A)  (A) 3R (R) g1 T B, wAfrT (R), (A) i &t =ame 757 2 |
(B) (A) 3R (R) qHI H&l @ AN (R), (A) ! &l RT3 |

(C) (A =& 7, dfh (R) TeAd 2 |

(D) (A) Teid B, A (R) @81 2 |
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2. Choose the correct option to fill in the blank. 1

from India and Southeast Asia travelled through ‘Silk Route’
to other parts of the world.

(A)  Gold and silver ornaments
(B)  Clothes and spices
(C)  Grain and pulses

(D) Iron and other metals

3. Choose the correct option, related to the founders of the ‘Swaraj Party’
within the Congress. 1
(A)  Subhas Chandra Bose and Jawaharlal Nehru
(B)  Acharya Kripalani and Jayaprakash Narayan
(C)  C.R. Das and Motilal Nehru
(D) Mahatma Gandhi and Sardar Patel

4, Who among the following said — “Printing is the ultimate gift of God and
the greatest one.” ? 1
(A)  Martin Luther
(B) Mahatma Gandhi
(C) Johannes Gutenberg
(D) Rashsundari Devi

5. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option. 1

Assertion (A) : The famous ‘Chipko Movement’ in the Himalayas
successfully resisted deforestation in several areas.

Reason (R) : Through this, community afforestation campaign with
indigenous species was made enormously successful.

Options:
(A) Both (A) and (R) are true, but (R) is not the correct explanation of
(A).

(B) Both (A) and (R) are true and (R) is the correct explanation of (A).
(C) (A)1is true, but (R) is false.
(D) (A) is false, but (R) is true.
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6. LAY I UM &Y 118 Hifvw 31t 981 faehed &1 =—A Fifvu |

&y I &y 11

(7%7) (7a1)
i HER W a. gags
ii. BNIHS b. M
iii. YTEST AMTA c. HHar
iv. :l'lTl'Iﬁ:[ d. #egEd
forerea :

(A)  i-a, ii-b, iii-c, iv-d

(B) i-b, ii-a, iii-d, iv-c

(C) i, ii-d, iii-b, iv-a

(D) i, ii-d, iii-a, iv-b

7. YA ¥ TS % 3ared A Fafafed =i & ofw (wfasa #) & o erfereham

¥ =[IAH Y ITc] Hal foehed sl =3 ShifT |

(A) U Yo, HENISE, hideh, SASI;M

(B) HeH Yq¥l, HENISZ, SIS, Heficeh

(C) WENISE, WE Q¥ hriceh, S

(D) WENISE, AT, HE YT, hleeh

8. Tl % ¢l & 9 H feu U qenl ol ufeu R TE fasheq 1 ==[ v |
I.  9&UTd <hl GHEHT bl A HdT 3 |
II. ol o= <t ufshan &l reeg o 2 |
1. foafaydmet 4 amess= wenfud =t g |
IV. o1 8 A bl Yrfier! =1 Sgrdr 2 |
forerea :
(A)  Hadd I 119 IITEE 8 |
(B) had IL, III9 IVTS % |
(C) HaadLIINT IVHS 2 |
(D) Haa L II9 IVEE 7 |
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6. Match Column I with Column IT and choose the correct option. 1
Column I Column II
(Dams) (Rivers)
1. Sardar Sarovar a. Sutlej
ii.  Hirakud b. Krishna

iii. Bhakra Nangal c. Narmada

iv.  Nagarjuna Sagar d. Mahanadi
Options:
(A) i-a,ii-b, iii-c, iv-d
(B)  i-b, ii-a, iii-d, iv-c
(C) i-c,ii-d, iii-b, iv-a
(D) -, ii-d, iii-a, iv-b
7. Choose the correct option for the following States’ share (in percentage) in
the production of ‘manganese’ in India from the highest to the lowest

order. 1
(A) Madhya Pradesh, Maharashtra, Karnataka, Odisha

(B) Madhya Pradesh, Maharashtra, Odisha, Karnataka
(C) Maharashtra, Madhya Pradesh, Karnataka, Odisha
(D) Maharashtra, Odisha, Madhya Pradesh, Karnataka

8. Read the arguments given in the favour of power sharing and choose the
correct option. 1
I. Reduces the likelihood of bias.
II. Barricades the decision-making process.
III. Accommodates diversities.
IV. Increases the participation of people in power.

Options:

(A) Only I, II and III are correct.
(B)  OnlyII, IIT and IV are correct.
(C)  Only I, III and IV are correct.
(D)  OnlyI, IT and IV are correct.
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9. YR dfaum § afvfa Trer’ frfafea § @ fopg g=h & ofaria o1t g 2
(A) =g g
B) TSF Il
(C) owad g=ht
(D) STeht 5l fawy

10. 1992 ¥ YRd ¥ dfgum aenegd ek Ffafed @ & fora wen o nfgenedt &
o armeqor Sht seEen Y TS 2
(A) @ |l
(B) TSI aw
(C) Taum uitwg
(D) ERd

11. = 3 e g e 2 | A Sl (A) 3R FRW (R) € | T %Al i Afen
IR TE forepeq 1 ==[ Fifve |
STYHYT (A) : MY TAlhad TSI Gall o T Tg1 9t Fehdl & |
FRU(R) - THaitaa gfaffy shead ToH-3191 Fateq-aa1 & gfd semees
g, 3w o uf & |

Tererey .

(A (A T 7, AR (R) Tod 2 |

(B) (A) Td g, ifehd (R) &8l 3 |

(C) (A 3R (R) aHI T&l § 3R (R), (A) 1 98 =& 7 |

(D) (A) 3R (R) <HI T&l &, AfhT (R), (A) 6T Tt == 757 2 |

12. fTr=fafga 2on 9 9 forad feedhy saawen 2 2
(A) H (B) difepEd™
(C) GIH T ufEH (D) %
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9.

10.

11.

12.

‘Education’ falls under which one of the following lists given in the Indian
Constitution ? 1

(A)  Union List

(B) State List

(C)  Concurrent List
(D) Residuary Subjects

In which one of the following institutions in India was a system of
reservation for women made by amending the Constitution in 1992 ? 1

(A) Lok Sabha

(B) Rajya Sabha

(C)  Legislative Council
(D) Panchayat

Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option. 1

Assertion (A) : Modern democracy cannot function without political
parties.

Reason (R) : Elected representatives will be accountable only to their
constituencies, not towards the country.

Options:

(A)  (A)1is true, but (R) is false.

(B) (A)is false, but (R) is true.

(C) Both (A) and (R) are true and (R) is the correct explanation

of (A).
(D) Both (A) and (R) are true, but (R) is not the correct explanation of
(A).
Which one of the following countries has a two-party system ? 1
(A) China (B) Pakistan
(C)  United States of America (D) France
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13. Tafafea & @ foeg a3 o afgenett =1 a9 T |9ag) (2018) # fafferca
qay 3fYes o7 ?

(A) Fifésw o

B) i (30 T <)
(C) I

(D) TRREN

14. lhaa i HHEfafgd fosmsarett =i ufeu iR T&@l foshey w1 === HifSu |
I. %9ad wd g gHe
II. S % 998 FHH

III. =3k hi TTRAT
IV. SgHEIH &l IEA
fererew :

(A) had L I19 I § |
(B) had IL IS IVEE 2 |
(C) e LIIa IVES § |
(D) wad LI VTS 7 |

15. 0 & ey # AEfafed ofifeafa =t 9fgu 3 ko1 & ghricHss gwE i
TEA HIT |

TelTH 3T o ToTT hrieie Sf <Rl F&Ld i 3R0T o gRI IU T & | 3’01 34
3G h hERIA Gl qT IcATGH ol THI T YU A H HGG hidl 3 |

e .

(A) HcilH 9 R0 1 HR ¢ S |
(B) G| <hl HATS §¢ ST |

(C)  3cdred |l I |

(D) EclW 01 % 55k H B T B |
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13.

14.

15.

In which of the following regions was women representation the highest
in their respective National Parliaments (2018) ? 1

(A)  Nordic countries

(B) America (North and South)
(C)  Europe

(D) Asia

Read the following characteristics of democracy and choose the correct
option. 1

L. Free and fair elections

I1. Equality before law

III. Dignity of a person

IV. Majority rule

Options:

(A)  Only I, IT and III are correct.
(B)  Only II, IIT and IV are correct.
(C)  Onlyl, III and IV are correct.
(D)  Only I, IT and IV are correct.

Read the following situation regarding credit and identify the positive
impact of credit. 1

Salim obtains credit to meet the working capital needs of production. The
credit helps him to meet the ongoing expenses and complete production
on time.

Impacts:

(A)  The burden of credit will increase on Salim.
(B) Salim’s income will increase.

(C)  The production will decrease.

(D)  Salim may get stuck in a debt trap.
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flga fag =1 steaea fifvw | g § 39 9o+ rdegeEer %
faftaa & 9 form &3 & A7 a1 8 2 1

(D) =g

Fig: [HAFCTRId 397 #ac gleeariaa qagmfdea & o7 397 qea 16 & &7 |
&/

frafafea 9 & frE & 6 THEH 9Rd & doha e 3ag (SELd.) #

Taiferes B ? 1
(A)  wTafs

B) g

(C) qdreh

(D) <qIH
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16. Study the following picture. The work done in the picture comes under

which one of the following sectors of the economy ?

(A)
(B)
(C)
(D)

Note : The following question is for the Visually Impaired Candidates only,

Primary

Secondary
Tertiary
Quaternary

in lieu of Q. No. 16.

Which one of the following sectors has the maximum share in the Gross

Domestic Product (GDP) of India ?

(A)
(B)
()

(D)
32/4/1-14

Primary
Secondary
Tertiary

Quaternary
Page 13 of 27
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17.

18.

19.

20.

T @ ed fer MU E | A SAHAA (A) 3 HRU (R) & | QAT AT I UlgT

3R T faerew &1 == KIS |

37T (A) : ARG H his Wl Ak HAA AR W T H GRAN i DR
T&l T HohdT B |

PRU(R)  : WA H 93 I T TLHR ITIhd et 8 |

ey ;

(A)  (A) 3R (R) gH1 &l & 3 (R), (A) T TE =T 7 |

(B) (A) 3IR (R) gFI @dl §, Tk (R), (A) ! Tl =T 757 % |
(C) (A) @& g, dfhd (R) Toid ® |

(D) (A) TeAd 8, Afeh (R) T& 2 |

ffafga @ @ SH-91 ST STHEr & TR 61 T&t 9uH Hdl 8 ?
(A) YR W R Teef} a0t i g

(B) 3= Sitad & ohl Y& HT

(C) e & o= dig nfa I Tehientur &

(D) focsht Sufi =t a1 & fou fomw veq e

G® g foh™ SR (FT.SH.) HHfdigd ¥ & TR MgR | AHa
o T{are’ wehIfSTa htat & 2

A)  Tafgior, TaaEer R ey

(B) firam, Tawen 3k ufd =i 3

(C) TS 3T, Ty 3T sfehT

(D) ¥ =] 3G, SENfiEhl TR Ta=R

=9 @ wom fiw mu | 3 wAfieRem (A) TR wRw (R) § | gFT Sl @I dfew
3R TE faehed 1 =3q HIRT |

BT (A) : qoh BB hoich] ol o o fIC IIT T 8 B |

FRU(R)  : FS A o I RIMYR &l 2al 2 |

ey ;

(A)  (A) 3R (R) gHT T&l & 3 (R), (A) T TE =T 7 |

(B) (A) 3R (R) gHI W&l §, Tk (R), (A) ! T =T 737 2 |
(C) (A) @& g, et (R) Toid ® |

(D) (A) Tod 7, AfhT (R) T&1 2 |
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17. Two statements are given below. They are Assertion (A) and Reason (R).

Read both the statements and choose the correct option. 1
Assertion (A) : No individual in India can legally refuse a payment
made in rupees.

Reason (R) : In India the rupee is authorized by the State
Governments.
Options:
(A) Both (A) and (R) are true and (R) is the correct explanation
of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of
(A).

(C) (A)1is true, but (R) is false.
(D) (A) is false, but (R) is true.

18. Which one of the following statements best describes the meaning of
‘Globalization’ ? 1
(A) Removal of tax barriers on trade
(B)  Providing higher standard of living
(C)  Process of rapid integration between countries
(D) Taking special steps to attract foreign companies

19. On which of the following basis does the United Nations Development

Programme (UNDP) publish the ‘Human Development Report’ ? 1
(A)  Manufacturing, Infrastructure and Health

(B) Education, Health and Per Capita Income

(C) National Income, Health and Banking

(D)  Gross Domestic Product, Technology and Innovation

20. Two statements are given below. They are Assertion (A) and Reason (R).

Read both the statements and choose the correct option. 1
Assertion (A) : Banks are not ready to lend money to certain borrowers.
Reason (R) . Some people do not have collateral.
Options:
(A) Both (A) and (R) are true and (R) is the correct explanation

of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of

(A).

(C) (A)1is true, but (R) is false.
(D) (A) is false, but (R) is true.
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21.

22.

23.

24.

25.

26.
27.

28.

29.

Qus @
(3tfer og-3wE 9e) (4x2=8)
“Sedt w9 9 § T TR @ 1 & s o1 |7 39 A @ v
Eﬁli\aq | 2
T o 3T Toeh™ o ToTT SHofl fohdl TR Teh SMYTRYT STTTThal & ? 3Gl
gfga Tose HifsT | 2
(a) WA ! HECHS wawel H Higge i gt w1 whew @ faget b
i | 2x1=2
AT
(b)  WRd ! HETcH e § Haied AT ! YfHet 1 we q faga
T Fifsre | 2x1=2
Trenfiehl fohl SRR I9eiehttl 1 Tsh HEwdqUl %eh 7 ? el digd TI
éli\aQ | 2
@UE T
(erg-SviiT we) (5x3=15)

(a) U g | fafie dgemi, &t a1 wioiell @ Heg T -ITerT aigl
q HHEh YA 1 WIE hd foh{a foham ? 3gTeton |fgd €U hiviw | 3

YT

(b)  “mgred e % fommi oK ToUS I FFUR % SR H FAGU hl T

g off |” Iergn "fgd 38 YA hl ¥R hifvu | 3
R § "I SIS i Y i fopegl o fomrwaredt s qui shifse | 3x1=3
SHwa-fmtor § TeHifae gel ht fient o1 faveryor i | 3
“Oefir YT SIEAT UehIcHeh YT SIIEAT T 3l 3¢ 8 |7 59 AT hl I
éli\ﬁQl 3
¥ & faem & fawy § fafsw o h arond 3= = 8 gedl 8@ 2 3|
Higd saTEea hIy | 3
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22.

23.

24.

25.

26.

27.

28.

29.

SECTION B
(Very Short Answer Type Questions) (4x2=8)

“Until the nineteenth century, poverty and hunger were common in
Europe.” Analyse the statement. 2

How is energy a basic requirement for economic development of a
country ? Explain with examples. 2

(a) Examine the role of the Constitution in the Federal System of
India in two points. 2x1=2

OR
(b) Examine the role of the Supreme Court in the Federal System of

India in two points. 2x1=2

How is technology an important factor of globalisation ? Explain with
examples. 2

SECTION C
(Short Answer Type Questions) (6x3=15)

(a) How did people belonging to different communities, regions or
language groups develop a sense of collective belonging in the

National Movement ? Explain with examples. 3
OR
(b)  “Workers had their own understanding of Mahatma Gandhi and
the notion of ‘Swaraj’.” Explain the statement with examples. 3
Describe any three features of cultivation of millets in India. 3x1=3
Analyse the role of political parties in shaping public opinion. 3

“Federal form of government is in direct contrast to the Unitary form of
government.” Explain the statement. 3

Why could different persons have different notions of a country’s
development ? Explain with examples. 3
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30.

31.

32.

33.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

32/4/1-14

(S -swiia wea)

Qg Y

(4x5=20)

“preftet hIfd A SHIETER AT H U ATfesh dga i Wi Ut i |7

3UYh Rl AlEd 38 e i ATEAT hHINT |

AT

“qa o TadEa I 4 R® AT e SISTa o WU WieHnsi

1 TR fohaT |” IUYH ol Afed 56 HYH i AT T |

<1 <k ATiees foehra o fafemtor e it et &1 auH ST |

AT

ATk JGUU § =) S ! g9 o AT I3 T foheal qi= HgHi i

U hifSTT |

grfores fafagar & gmee & fou dieds & g w1 fiwwm At | 5

HAYAT

Tt 3T STEHMAT Bl HH HH T Alhdd o Hgw ol T390 iU | 5

“ramifed &5 U Afehl I &0 3R FERdT hl AEawIhdl 2 |

3CEUN Higd 39 o4 hl 9@ i |

AT

“fsht azrep <Y Tifafafert =1 e oy i e gl @ |7 Sergn |fgd

Y hYF h! W <hIT |
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30. (a)
(b)
31. (a)
(b)
32. (a)
(b)
33. (a)
(b)
32/4/1-14

SECTION D

(Long Answer Type Questions) (4x5=20)

“The French Revolution created a sense of collective identity
amongst the French people.” Explain the statement with suitable

arguments.
OR

“The Greek war of independence mobilised nationalist feelings
among the educated elite across Europe.” Explain the statement

with suitable arguments.

Describe the role of manufacturing industries in the economic

development of a country.

OR
Describe any five steps taken to save fresh water from industrial
pollution.
Analyse the importance of democracy in accommodation of social
diversity.

OR
Analyse the importance of democracy in reducing poverty and

inequality.

“There is a need for protection and support of the workers in the

unorganised sector.” Examine the statement with examples.
OR

“Activities in the private sector are guided by the motive to earn

profits.” Examine the statement with examples.
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34.

35.

Qe &

(RE-ATHTRA /EA-STTTRA T9) (3x4=12)

feu 7w &t @1 ufey 3T 37eh A= QU 7T JeAT o IR ST

1857 % fagig & =1g I sl Ta=dl & Ufd W1 o T | g S A
THY I9 W1 4g 9 B hI AT HI | SAI-SAT WINT3 THER-IF TG § THH
¥ ger g T, -l Sfufafe e ¥ we v % yeae W agg dd
B T | BRI YH HMT b d9 W 1878 H FHIIER Y& Ude AN L &
T | 399 AR I AR 38 H SH e 3R AYIGehT i HEL i 1 ATIh
T Ud T | o1 ¥ TR 4 iy ween @ 8 arel vmwTs omeert W fafia
TR W@t I[E A & | TR Torefl e &l arft SR foan Smar o @ TEeR
GEel el & STl oft, R IR <Adrat hl SEHT g% Al SR 1 Fed feha
ST EehdT o1 37X BUTS hi A B < S Fehell off |
(34.1) ‘TR Y6 U’ Tohd T W STmeicg o 2
(34.2) 1857 % fagig & w1g Y& s Tadaar o Ufd S 1 WA FA ded

TN ? TS HINY |

(34.3) ‘TATFIER Y8 U’ AT 8H o Tehral Q1 YAl chl SATEAT hHIToIT | 2x1=2

fau T =ra I dfeu 3R 35 = g 7T gt & I G

FaTEl FT T - qEed fhet Wt TR o foR™ § el e HETd
2 | W T 1 foeerda 3uhT SR Af-3U=NT & SHHUT S AT -1
3R il gaemd O g1 gehdl 3 | 9 gHEsT 9 §e=d % fore fafie e
T EHTGA] T T AGRTH 2 | AT H &l HIYHA] 1 W&V §gd H A
3R Todent & oI foran =1 fowa @1 7 | Seretond, TS 3 d9reEr % @E
T 3T TodT 39 gl H Sk hl g — “FHR U & AN hl ATawIRdl I
T 95d 39 7, M|%4W%Wﬁ&gw¢é€mgdsl | 3TTq BAR 919 U
W o [T 98d @, ifehd 98 9 o g 781 17 36 IfgER fava T W
T B8 o ToIC ATer! 3Tk Tareff =afd qor smygfes Srenfiehl i Syureeh

Tgfa R 8 | 9 (e 3cared o faeg 9 R 38 &&H W fUs a9
SEYEH RI 3cUTed o Jaek 9 |

(35.1) ‘GEtya FRieH w1 gftrnfya s | 1
(35.2) GHTEAT o GLEIU <hl STTAIIhHAT ohl TIL hifoT | 1
(35.3) TS < It et b — %ﬂﬁqlaﬁwlmﬁwiﬁ
$S 8, b Thdl o TTCTd hl FqMee o faQ &l ? fohegl Eh‘lTUﬁ
forgemor fifse | 2x1=2
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SECTION E
(Case-Based/Source-Based Questions) (3x4=12)

34. Read the given source and answer the questions that follow :

After the Revolt of 1857, the attitude to freedom of the press changed.
Enraged Englishmen demanded a clamp down on the ‘native’ press. As
vernacular newspapers became assertively nationalist, the colonial
government began debating measures of stringent control. In 1878, the
Vernacular Press Act was passed, modelled on the Irish Press Laws. It
provided the government with extensive rights to censor reports and
editorials in the vernacular press. From now on the government kept
regular track of the vernacular newspapers published in different
provinces. When a report was judged as seditious, the newspaper was
warned, and if the warning was ignored, the press was liable to be seized
and the printing machinery confiscated.

(34.1) On which rule was the ‘Vernacular Press Act’ based ? 1

(34.2) Why did the attitude of the British change towards the freedom of
press after the Revolt of 1857 ? Explain. 1

(34.3) Explain any two impacts of passing the ‘Vernacular Press Act.” 2x1=2

35. Read the given source and answer the questions that follow :

Conservation of Resources : Resources are vital for any developmental
activity. But irrational consumption and over-utilisation of resources may
lead to socio-economic and environmental problems. To overcome these
problems, resource conservation at various levels is important. This had
been the main concern of the leaders and thinkers in the past. For
example, Gandhiji was very apt in voicing his concern about resource
conservation in these words: “There is enough for everybody’s need and
not for any body’s greed.” He placed the greedy and selfish individuals
and exploitative nature of modern technology as the root cause for
resource depletion at the global level. He was against mass production
and wanted to replace it with the production by the masses.

(35.1) Define the term ‘Resource Planning’. 1
(35.2) Explain the need for conservation of resources. 1

(35.3) Why did Gandhiji say — “There is enough for everybody’s need and
not for any body’s greed ?” Analyse any two reasons. 2x1=2
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36.

37.

feu v wra w1 ufew o 3Ees = fau U gl % IR G
g giufaat 9 =

Sopl o ITATET TTHIU & § TEd KT H Ush 31 @Id dghi giufat 3 |

FEhIl AU o FGEA 394 THTEHT l S &A1 § HgaT o [T Tha i & |
% TR <l Heehl wiufaal gwa €, S8 — forami, Rt T SHrenfies woigl

SCATTG oh! HEhII AT | FHYh ghR AHIA YL o A9Gh Teh Md H A

HLA 2 | 3Hh 2300 fhEM e 2 | IE AU TS H SHT YT hIdl

g | 38 S IS 1 ROMYR A §U, 39 TERN AHEfd 3 S 9 981 R0 9T
R 2 | 38 IS 1 SWIUTA WS i el of % 7w foRaT ST 7 | Ag ®W

AICH o WG ol 1 QU QR & TRl ST Fhall @ |

Yk FEHN GHMd Y IR Glied, @l qA1 HY AR A, TS

TS, B S IR 3 fafYe TR & =l o foT¢ T ool Sl & |
(36.1) “TEeptdt wiufa’” wor’ & g Hia 1 ITE B 2

(36.2) TTHIUT fosh@ T TEwRl ATl o ANTEH hi SRS il |
(36.3) TII-TEEAT AHGI <h! Yoil oh fohral QI GGl I I hHIT |

LCLER]
(AT RIvTE-eTiE I9H)

2x1=2

(2+3=5)

(a) WA oh U T oI WI-AHEET (I8 27 W), § & $AME hl ‘A’ 3R

‘B & &9 H Afrd foram mn 2 | fafafga Smepi < ggmar 9 3=

GEEITT R 3ok T& TH 39 gHIT Wi 78 W@ret W i

A. 98 TIE & TSt 9 i H @dl v 9 fREE & fow

gamrg foRam o |

B. 98 TUM gl MY 7 THh hid qIeT o7 |

(b) WRA & sH UoHIfdes AW |, efdafed @ @ fedl @7 &t

39k ol © guifse 3R 3e am fafau
(i) el —dd &

(i) =R — Y@ HIIAl GH

(iii) ORI — GEHTY] oIl G

(iv) TR — T@ d9g qod

32/4/1-14 Page 22 of 27

3x1=3



AN
36. Read the given source and answer the questions that follow :

Loans from Cooperatives

Besides banks, the other major source of cheap credit in rural areas
are the cooperative societies (or cooperatives). Members of a cooperative
pool their resources for cooperation in certain areas. There are several
types of cooperatives possible such as farmers cooperatives, weavers
cooperatives and industrial workers cooperatives, etc. Krishak
Cooperative functions in a village not very far away from Sonpur. It has
2300 farmers as members. It accepts deposits from its members. With
these deposits as collateral, the Cooperative has obtained a large loan
from the bank. These funds are used to provide loans to members. Once
these loans are repaid, another round of lending can take place.

Krishak Cooperative provides loans for the purchase of agricultural
implements, loans for cultivation and agricultural trade, fishery loans,
loans for construction of houses and for a variety of other expenses.

(36.1) ‘Cooperative society’ is an example of which source of ‘credit’ ? 1
(36.2) Explain the contribution of Cooperative Societies in rural
development. 1
(36.3) Mention any two sources of capital for Self-Help Groups. 2x1=2
SECTION F
(Map Skill-Based Questions) (2+3=5)

37. (a) Two places ‘A’ and ‘B’ have been marked on the given political
outline map of India (on page 27). Identify them with the help of
the following information and write their correct names on the
lines drawn near them :
A. The place where Gandhiji started Satyagraha for indigo
peasants. 1
B. The place where Gandhiji broke the Salt Law. 1

(b)  On the same political outline map of India, locate and label any
three of the following with suitable symbols : 3x1=3
(i) Naharkatiya — Oil field
(ii))  Talcher — Major Coal Mines
(iii) Narora — Atomic Power Plant
(iv)  Tuticorin — Major Sea Port
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Fie: [HEIRaT Jo7 Fac7 giteariaa qhgniaar & c7g J97 &7 37 & T T/
g1

fobgT aier 391 & 3¢ a7 | 5x1=5
(37.1) 39 TIMH k1 I fafgu &t miefisht 3 e hl @dl == 9 e &
Tou ‘geamrg’ foram o |

(37.2) 3T TIM 1 AW fARGE ST et 4 F0e T qreT o7 |

(37.3) IEThIeAT a1 & forg T=u © foq 2 2

(37.4) 39 TSY 1 9 TARGT S5l Ger=’ THE@ ¥ ! @H €Ia 8 |
(37.5) 39 USA =1 W fafgn S5t Tt Ty ot @ foa 2 |

(37.6) qARITE TG a0 Tl U5 1 fed@ 8 2
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Note : The following questions are for the Visually Impaired Candidates
only, in lieu of . No. 37.
Attempt any five questions. 5x1=5

(37.1) Name the place where Gandhiji started ‘Satyagraha’ for indigo
peasants.

(37.2) Name the place where Gandhiji broke the Salt Law.

(37.3) In which state is Naharkatia oil field located ?

(37.4) Name the state where Talcher major coal mines are located.
(37.5) Name the state where Narora Nuclear Power Plant is located.

(37.6) In which state is Tuticorin sea port located ?
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A= 4397 :

(1)

(it)

§22)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

59 J97-97 § 37 ¥97 & | @At yv7 erfdard & 1
J97-97 F: GUSI § [G9157 3 - @UE &, &, 7, ¥, & TF I/

GUE & — o7 &I 1 8 20 Fglascdid JHR & J97 & | 4% F97 1 3% #1 & |

GUE & — 97 G&I7 21 @ 24 317 TG-FHIT JHR & 97 & | J9% J97 2 371 &1
& | 37 J91 &7 IR 40 5G] G 3719 T&7T fer@r ST FMieq |

GUE T — ¥ G&IT 25 & 29 TY-IFIT JBR & 97 & | F9F Jo7 3 3H] 71 & |
37 51 BT 3T 60 J5g] & 314 73T forar ST =nfsy |

EUE T — Y97 &I 30 & 33 FH-I70T IJHR & J97 & | e Y97 5 3hl HT & |
57 Y991 7 3T 120 eg] & 3¢ &7 Io7@T ST =ey |

GUE & — Y97 &7 34 G 36 FG-STEIRT/ Fla-3meila 397 8 578 7 37-397 & |
Jcdb Jo74 3] FT & |

QUE o — 97 G&IT 37 Il HIVA-3TERT I97 & foad g1 91 & - 37 (a) 3fasra
(2 37%) 3 37(b) — YT (3 37F) | 39 Jo7 & P75 3FH & |

$T% 3laIs, €77 19 giccanad TNl & 178 Biet @97 Fied 377G e

Tl @ T W T I T 1597 T & | §7 ) & I daer gheantaa wiandT &
7@ |

«us <h
(Sgferemedta o) (20x1=20)
1815 7 ‘TorT webe shi BT feforfad ® & fopae i oft 2 1
(A) <THER = @
(B) I T
(©) fafaw-yem
(D) At a1 foremmeh
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General Instructions :

Read the following instructions carefully and follow them :

(1)
(iv)

(iii)

(iv)

(v)

(vi)

(vit)

(viii)

(ix)

This question paper contains 37 questions. All questions are compulsory.

Question paper is divided into six sections — Section A, B, C, D, E
and F.

Section A — Questions no. 1 to 20 are Multiple Choice type questions. Each
question carries 1 mark.

Section B - Questions no. 21 to 24 are Very Short Answer type questions.
Each question carries 2 marks. Answer to these questions should not exceed
40 words.

Section C — Questions no. 25 to 29 are Short Answer type questions. Each
question carries 3 marks. Answer to these questions should not exceed
60 words.

Section D — Questions no. 30 to 33 are Long Answer (LA) type questions. Each
question carries 5 marks. Answer to these questions should not exceed
120 words.

Section E — Questions no. 34 to 36 are Case-based/Source-based questions
with three sub-questions. Each question carries 4 marks.

Section F - Question no. 37 is Map skill-based question with two parts —
37(a) from History (2 marks) and 37(b) from Geography (3 marks). This
question carries total 5 marks.

In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
map etc. Such questions are to be attempted by Visually Impaired candidates
only.

SECTION A
(Multiple Choice Questions) (20x1=20)
Who among the following hosted the ‘Vienna Congress’ in 1815 ? 1

(A)  Chancellor Duke Metternich
(B) Ernst Renan

(C) William I

(D)  Otto von Bismarck

32/5/1-15 Page 3 of 27 P.T.O.




NN\

2. frafafea & ¥ ®H-a1 o6 qdff 9Ra ® 3I9o0 qo1 ©H A (foes &) 6
fafay smarett & o feemsti & e ?

A) Teg wH
(B) 39TS 98
(C) diged
(D) 9 ad

3. fTrafafga weTsti # Fehits A 1 afem Hifve AR a8 fawed &1
T HIT |

I. gas U Rgarsa afuafa =1 a1

II. SfATare ST gcdTehs

[II. SRS Icamig
IV. 3TEgIN 3Tl <hl ST99 ol
f&reveu

(A) LILIIL IV
B) IL I IV,III
(©) LIL IV, III
(D) IIL IV, 1L I

4. T&F TIF &1 qfd & foTe 981 foshed 1 ==A i |

19 T & ANY H, SR Flgde! IER H G Hl |
‘SR e T ST T |

(A)  ufedr T

(B) wigel ¢l

(C) e firg

(D)  hoATETRHT gat
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2. Which one of the following religions emerged from eastern India and

spread in several directions through intersecting points on the °‘silk

routes’ ?
(A) Hinduism
(B)  Christianity
(C) Buddhism
(D) Jainism
3. Arrange the following events in chronological order and choose the

correct option.

I. Formation of Khilafat Committee in Bombay
II. Jallianwala Bagh Massacre

III. Bardoli Satyagraha

IV. Withdrawal of Non-Cooperation Movement
Options:

A LILIIL IV

(B) ILI,IV,III

©) LI IV,III

(b)y IIL IV,II I

4, Choose the correct option to fill in the blank.

In the beginning of the 19t century, a girl married in a very

orthodox household wrote an autobiography called ‘Amar Jiban’.

(A)
(B)
()
(D)

32/5/1-15

Pandita Ramabai

Rashsundari Devi
Tarabai Shinde
Kailashbashini Debi
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5.

Y I 1 T &9 119 hifve 3 98t fasmeq w1 =—A hifsu |

&y I &y Il
(T 3EIT) (7%)
i. BT a. T I
ii. m wiee b. 3TEH
i, HoreH c. IWES
iv. EILEUI d. ufvam s
forerea :

(A) i-a, ii-b, iii-c, iv-d
(B) i-d, ii-c, iii-b, iv-a
(C) i-c, ii-b, iii-d, iv-a

(D) i-b, ii-c, iii-d, iv-a

‘Tt fgu o= yomell’ Fefiiiad § 9 ford =9 1 J=ifra g 2

(A) dfHeTg (B) ufvem &

(C) HuTe™ (D) ffesm

ffafigd § @ SH-A1 YRA 1 Tad 981 Fid3e. IdeHh TS 8 ?
(A) HERTSE (B) TNES

(C)  TSId (D) st

= A w19 I fer T 3 | A1 w1 Ufeu 3R & faecy 1 =M

T |

FYT] : T B SN ARhdIAD TILATST o foTw 3ieh B |

Fo7 1 : 399 TahEm ariores awgl o o9 Zohta shi 9EAT i A S H
TErdT fierd 7 |

forerea :

(A) HUF 198 2, Afchd II Tid 2 |

(B) %I I Td 3, AAferd 1T 981 3 |

(C) YA 19 I1QHI Fal & 3 I, T 1 H&l e ¢ |

(D) I 19 II gHI |8l & itk 11, I 3hi Hal =& 787 7 |
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5. Match Column I with Column II and choose the correct option. 1

Column I Column II
(National Park) (State)

i. Kaziranga a. Madhya Pradesh

ii.  Jim Corbett b. Assam

iii.  Sunderbans c. Uttarakhand

iv. Bandhavgarh d. West Bengal

Options:

(A) i-a, ii-b, iii-c, iv-d
(B) i-d, ii-c, iii-b, iv-a
(C) i-c, ii-b, iii-d, iv-a

(D) i-b, ii-c, iii-d, iv-a

6. In which one of the following states is ‘bamboo drip irrigation system’
prevalent ? 1
(A) Tamil Nadu (B) West Bengal
(C) Meghalaya (D) Odisha

7. Which one of the following is the highest ‘bauxite’ producing state of
India ? 1
(A) Maharashtra (B) Jharkhand
(C)  Gujarat (D) Odisha

8. Two statements, I and II are given below. Read both the statements and
choose the correct option. 1
Statement I : Division of power is good for democratic systems.

Statement II : It helps to reduce the possibility of conflict between
social groups.

Options:

(A) Statement I is true, but II is false.

(B) Statement I is false, but II is true.

(C) Statements I and II are true and II is the correct explanation of I.

(D) Statements I and II are true, but II is not the correct explanation of I.

32/5/1-15 Page 7 of 27 P.T.O.
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9. 9RA H fourh ARl & dcar ¥ Halyd q9d IUgH foehed &1 =@ i |

(A)
(B)
(©)
(D)

YR qiaerT 7 fagr

favar & g

o = — i g ais

T A - gfowm I i
EEECIREl - o 9 "R
bl S faw - e wied 9 SR

10. WA ogW § 9y-Fuga 8 seiyd SEfafed seus o d9iey 3R |8

fdereg =1 == i |

L.
II.

III.

AT UsT 9 ford) ot g9 ) Torehia o o7fierr =181 fomam 2

gfga gt arient ot et ff 99 &1 Io @ IR =R w1 A
TS < & |

giag™ od & YR W fort IH a1t Tordt @ o Hewa sl duniaes
N T 2 |

IV. Ig «ifties agern § gurar gfead e & foe smam st enfides amet
T g < T AMRHR a1 B |

forerea :

(A) wHhaa L1914 2 |

(B) had [ IId VTS B |

(C) whaa L II9 IVES 2 |

(D) had IL 119 IVES 2 |

11. 9Rd % A AN H ToHIdeh gall o GUR o o eafafegd & @ sF-a

THaH IS ?
(A) TA-ded Sl Ushd o Toru "faam gsnya fomam |
(B) 3IEearl skl 9Y-UF o g STk HIHAT h1 ST AT g1 |

()
(D)

32/5/1-15

IAEERT =l I9Y-TF o GRI 79T Fufd ST S ST JAT |
al gl I TS FAE BT 3R AR e 9T tfard s fea |
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9. Choose the most appropriate option regarding the division of legislative
rights in India. 1
Subject list in Subjects
Indian Constitution
(A) Union List — Defence and Commerce
(B) State List — Police and Agriculture
(C) Concurrent List — Forest and Communication
(D) Residuary Subjects — Computer Software and Trade
10. Read the following provisions regarding Secularism in the Indian
Constitution and choose the correct option. 1
I. The Indian State has not adopted any religion as its official
religion.
I1. The Constitution gives freedom to all the citizens to practice and
propagate any religion.
III. The Constitution declares any kind of discrimination done on the
basis of religion to be legal.
IV. It gives the government the right to intervene in religious matters
for ensuring equality within religious communities.
Options:
(A)  Only I, IT and III are correct.
(B) Onlyl, II and IV are correct.
(C)  Onlyl, III and IV are correct.
(D)  Only II, IIT and IV are correct.
11. Which one of the following steps has been taken by the Election
Commission of India to reform political parties ? 1

(A)
(B)

()
(D)

32/5/1-15

Amended the Constitution to prevent defection.

Candidates will have to give the details of criminal cases on
affidavit.

Candidates will have to give details of their property on affidavit.

It has been made mandatory for all parties to conduct
organizational elections and file income tax returns.
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12. = @ %ua fau mu g | I firenud (A) 3R HRW (R) @ | SF1 el i dfeu
3R Gl foeheg =1 =9 hIfSe |
B (A) : WRA H TEEATT SHEAT hl HIART 2 |

FRU(R) : 98 WRd & g gmiiies 3 dimferer foasmareti o gie g d
Tq g |

forerea :

(A (A) 3R (R) gHI T& & 3R (R), (A) H & =& 7 |

(B) (A) 3R (R) gH1 T& 7, AR (R), (A) T T =amen 757 2 |
(C) (A) &l g, Ak (R) TeTd 2 |

(D) (A) T &, AT (R) 981 2 |

13. YRA % AHAYM o IIHR FHHfAIRad § & -1 Toh TG W9 8 2

(A)  Aegd
(B)  TedTelt
(C) =Tt
D) TSI

14, = g ®H 19 11 fGC T & | QA1 Al I UG 3R G8l foheq &1 <=M

T |

FI7]: WAfgand 39 faftd =gaqmE § |fshy &9 4 IeH ¢ Tl 8 TR e,
?ﬁm,a@a,uﬁwamﬁwﬁmaﬁﬁrwﬁ{ﬁwﬁﬁmﬁ

|

FYTII : s faumm &t ToHifae  Afveate o ToHifas Maed =
HTeSI-eh Sfta H HfgaATeTl shl fHepT hl IGH H F&TIdT hl 7 |

farepeu .

(A) %A1 HS 7, afehd 11 7@ 2 |

(B) YA I 7@id ®, <ifehd I1 §1T & |

(C) I 19 IIgHI Hal & 3T 11, 1 h! T8 =1 ¢ |

(D) ¥ 19 11 gFT T2l &, Al 11, I 1 Tdt =amen 77 2 |
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12. Two statements are given below. They are Assertion (A) and Reason (R).

Read both the statements and choose the correct option. 1
Assertion (A) : Multi-party system has been adopted in India.
Reason (R) : It is capable of accommodating all the social and
geographical differences in India.
Options:
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation
of (A).
(C) (A)1is true, but (R) is false.
(D) (A) is false, but (R) is true.
13. Which one of the following is a scheduled language as per the
Constitution of India ? 1
(A)  Bhojpuri
(B) Garhwali
(C) Nepali
(D) Rajasthani
14. Two statements, I and II are given below. Read both the statements and
choose the correct option. 1

Statement I : Women are now actively contributing to various

professions including roles as doctors, engineers, lawyers,
managers and university teachers.

Statement II : Political expression of gender division and political

mobilization helped to improve women’s role in public life.

Options:

(A) Statement I is true, but II is false.

(B) Statement I is false, but II is true.

(C) Statements I and II are true and II is the correct explanation of I.

(D) Statements I and II are true, but II is not the correct explanation of I.
32/5/1-15 Page 11 of 27 P.T.O.
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15. T BN 8 Tia § T FhEM T1d o HIEHR 8§ I AIHH o419 ¢ W R Al @,
Tifeh 98 30 9198 b § TeIT T graT | el IR 98 S d B S gl W
O A 8 | 98 HR-ER HHTHR FEHN H sk g1 sh! k1 Fehld 8 |
wwwﬁéﬁﬁiﬁwwmwaﬁqﬁmﬁiﬁaﬁﬁﬁﬁw%?
(A) ®|°h Teh HghNI UG °h Kqﬁ SR HIAT 7 |
(B) % FRUI-IW <! feufa =1 gloars=e s 2 |
(C) S a&gatl 1 A AGH-YgH FHfTad it B |

(D) S fpE™ A1 I & F=1dT 2 |

16. feu v fum <t 2fgw | fom d fovan SR aren v f=faRea & @ forg snfdes
&eh o 3TaTTd AT & ?

(A) e | o B) ﬁ?ﬂw
(C) qdreh (D) =g

Fig: [[EcIRad 397 FaT gieeaniaa qhemiaal & 1o/ 397 G116 & &7 W E |
‘b1 <t Well’ rdferaeen & fmfafaa & @ fopa & & faia 3Tt @ 2
(A)  wTftes (B) fgdio
(C) qarreh (D) <qeh

17. 9 @ %y for MU E | A Afirepud (A) 3N SR (R) & | SFT UHl s gfey
IR T faerew &1 ==[ HifT |
WW(A):%[ﬁmﬁa‘qwﬁaﬂwéaﬁqmﬂﬂaﬁWT&maﬁmﬁﬁ

|

HR (R) : gﬁ Y ol o o (7T momeR 3R o=y SwrsTal s S ggdt

f&reweu

(A) (A)aﬂUR)aﬁaﬁ%aﬁx(R) (A) hl Tl TR B |
(B) (A) 3R (R) ZHI &l &, AT (R), (A) 1 Hel =@ 757 ¢ |
C) (AT E, A Q’|I°h-1 (R) TTeTd & |

(D) (A) TeId &, A (R) 981 2 |
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15.

16.

Note :

17.

32/5/1-15 Page 13 of 27 P.T.O.

In one of the small villages, a farmer borrows money from the village
moneylender at a high monthly interest rate but is not able to repay it
back. Next, he borrows it from a bank at a lower interest rate. Gradually
he earns and pays back the loan to the moneylender and the bank.

Which of the following best describes the role of the bank in this credit
situation ?

(A) The bank acts as a cooperative lender.

(B) The bank facilitates a debt-trap situation.

(C)  The bank ensures a fair exchange of goods.
(D) The bank saves the farmer from debt-trap.

Look at the given picture. The work being done in the picture comes
under which one of the following economic sectors ?

(A) Primary (B) Secondary
(C) Tertiary (D) Quaternary

The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 16.

‘Floriculture’ comes under which one of the following sectors of the

economy ?
(A) Primary (B) Secondary
(C) Tertiary (D) Quaternary

Two statements are given below. They are Assertion (A) and Reason (R).

Read both the statements and choose the correct option.

Assertion (A) : Rural poor families are still dependent on informal
sources of credit.

Reason (R) : For obtaining loan from banks, collateral and special
documents are required.

Options :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B)  Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(C) (A)1is true, but (R) is false.
(D) (A)is false, but (R) is true.




18. fr=fafga ¥ @ 9w Sederwor’ # i @ 2
(A) IR Tl i SGHT

(B) SR AU hl BT

(C) AR GRI GEY &% W 0T ot
(D) aEg3l W AT, f0a e Ser

19. T=fafga 4 9 frm g 1 wiRd o TR H Reedl wdilees & ?

(A) gt
(B) gtk
(C) qdreh
(D) <qIH

20. fCUu TU A W ¥ RO % UG AAi B gHC AR FEl fowhed w1 =TEA

HIRIT |

I &

II. HEHR

III. |&hRl FHfar
IV. =i

faeeu :

(A) I 19 II
(B) had 1149 III
(C) had 19 III
(D) had 19 IV

32/5/1-15 Page 14 of 27




NN\

18. Which one of the following is included in ‘liberalization’ ? 1
(A) Promoting trade barriers
(B) Removing trade barriers
(C)  Controlling the other country through trade
(D) Increasing import, export duty on goods
19. Which one of the following sectors has the highest share in employment
in India ? 1
(A)  Primary
(B)  Secondary
(C)  Tertiary
(D) Quaternary
20. Select the formal sources of credit from the given sources and choose the
correct option. 1
I. Bank
I1. Moneylender
III. Cooperatives
IV. Businessman
Options:
(A) OnlyIandII
(B)  Only II and III
(C) OnlyIand III
(D) OnlyIand]IV
32/5/1-15 Page 15 of 27 P.T.O.




21.

22,

23.

24.

25.

26.

27.

28.

29.

Qs &
(et wg-Sw{E ) (4x2=8)
dicTgdl Sdisel 8 Y8 WRAIT SUHSIE <hl SAIINeh Aedeh o JdIg H heold
feufa =1 off 2 = i | 2
(a) ‘@S IR AT 99T HEENG SgEl § fUed 8 17 39en afgd 39
I hl AR hifvT | 2
AAAT

(b) “uagrEriE a1 o faema wen A @it ue S 2@ 17 3w |fga 39
I hl =Rt hifv | 2
WA Gfaea™ § foaehgiontur shl STTa9aehdT ST Tl shl TS ? TS <hIfTT | 2

IYSToRT0T I WG A W YT Td FaR IRl § forehtd T &I hileh hd
@1 ? T hifSu | 2

Qus T

(g3 wEA) (5x3=15)

(a) TfaT TEF AGREH H Higarsdi i ikl i TN Algd &

HifT | 3
AAAT

(b) Sl AT & SR URAR olieh hermatl 3 Tdiehl 4 Tsedre & fo=m

! TorE TR HeTeM TR ? TR0 Higd SAT& hivY | 3
RATT Y TR A9t o fohegl diF THTEi 1 UM 1T | 3
A | TSI ol o ue foheal o= gtfoRn o1 forgetwor Hifsm | 3
W <hl TETcHeh IMEA FaT shl foheal a9 famivarstt =1 guH <hifse | 3
IAAE THT B groiiIar <1 fos faema & fou sifsamd =1 59 w2 2 et
giga same IS | 3
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22.

23.

24.

25.

26.

27.

28.

29.

SECTION B

(Very Short Answer Type Questions) (4x2=8)

Why was the Indian subcontinent central to the flows of the trading
network before the sixteenth century ? Explain. 2

(a)  “Minerals occur in igneous and metamorphic rocks.” Explain the
statement with example. 2

OR

(b) “The ocean waters contain vast quantities of minerals.” Explain

the statement with example. 2

Why was the need for decentralisation recognized in the Indian
Constitution ? Explain. 2

How have the developments in information and communication

technology been the major factor to enable globalisation ? Explain. 2
SECTION C
(Short Answer Type Questions) (6x3=15)

(a) Explain the role of women in the Civil Disobedience Movement,
with examples. 3

OR

(b) How did the Indian folklore and symbols strengthen the idea of
nationalism during the twentieth century ? Explain with

examples. 3
Describe any three impacts of globalisation on Indian agriculture. 3
Analyse any three challenges faced by political parties in India. 3
Describe any three characteristics of the Indian federal system. 3

Why has the issue of sustainability become essential for development in
present times ? Explain with example. 3
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30.

31.

32.

33.

34.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Lus 9
(Srdt-zwhT weA) (4x5=20)
SATTal TURTSY o Whioh(Ul H SYEY HicEHT shi YfHep 1 Hodrehd
i | 5
AT
ST oh TEhTehtUl | 3TTel Ji TorEdTeh ehl Y[HRT h1 HeAThA hilvTT | 5
“fafamior s o & o i e Twe 9 8 17 39 e %l =T
3allgu | 5
AT
“iY Td ITNT THGE b [k & |7 $E HAA hl ~AHTI 38U | 5
JTEAHA SR TS I HHA i H ARhAA ohl H[Weh! hi IGEWN Higd
ST HIfT | 5
AT
Alehdd fohT JohR Ush 9Y I 8 ? 3ST8L0N Higd I shifoT | 5
anifefer Tfafafert & Gesi-es wa s &5 | 37aT Tose hifay | 5
AT
aTfden Tifafafert & Snfed wa SETSd & H T T hifaT | 5
Qus &
(hE-_STTeTia /|a - AT 99 ) (3x4=12)

fau T &t = ufey 3R 38k i QU MU gl % IR AT

BUTS WA AT

SFY TEeE fEaehl 9 1780 ¥ 777 ol A Ush WTdligsh UiHehl ohl

gt & o, e gg i 3 ufoarfya forn, g fopelt o foiw 3uersy

STETRIh UEehl, ST fopdlt o I9Td § &1 2 | I+ I8 Yl Wd | 99 I
e SAUHAREE I W ANG, Mt st 3T off, iR 3§ I wadar W
A ot | fEh & IR fammae sar o S gt 6 fosh @ 2 svasr ot
A 9 | Tifehd T1Y & 98 9Rd | R Iiss T AT H ST eIt
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30.

31.

32.

33.

34.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

SECTION D

(Long Answer Type Questions) (4x5=20)

Evaluate the role of Giuseppe Mazzini in the unification of the
Italian Republic.

OR

Evaluate the role of Otto von Bismarck in the unification of
Germany.

“Manufacturing sector is considered the backbone of development
of the country.” Justify the statement.

OR

“Agriculture and Industry move hand in hand.” Justify the
statement.

Explain with examples the role of democracy in the reduction of
inequality and poverty.
OR

How is democracy a legitimate government ? Explain with
examples.

Explain the differences between public and private sector of
economic activities.

OR

Explain the differences between the organised and unorganised
sector of economic activities.

SECTION E

(Case-Based/Source-Based Questions) (3x4=12)

Read the given source and answer the questions that follow :

Print Comes to India

From 1780, James Augustus Hickey began to edit the Bengal Gazette,

a weekly magazine that described itself as ‘a commercial paper open to

all, but influenced by none’. So it was private English enterprise, proud of

its independence from colonial influence, that began English printing in

32/5/1-15
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off BIAT o7 | 3HH IS B Ta S aRd gfee™ J fgaehl T goheHT
oo, ofR T8 Tl STF-UT STEEN & YoM ol Ticalgd HEl &
e S snufases o9 & Sfd W B g9l & 39l &1 N T | T3NEd] Tl
% I T H3-HN THA-IERN DU M | FO RgEarl Wi 0 FTEER Do
Y | U ] H U o1 TS UHHATET UF o hisl @ TR 9e= gl
YRR FI77eT 7972 |

(34.1) g JMH Tkl g/ guifed ufSem ‘F7er 792 fopg ot ©

TRITRIA g3 ? 1

(34.2) SV 3TMTEeH Tgaehl T YoheHT T TohaT T/ 2 1

(34.3) 1780 % Tk o SN Tohd @AW k! TicHTed fhIT =T ? 3= oA
TiedTed fomam T 2 1+1=2

35. feuw &g =1 ufew 3t 3ges fi9 feu U ywat & I A .
HHTAT hT TIE0T

AT TR W Faferd qlieh & TEEE TR0 hl gehleld 1968 § #o7e
377 U7 A i | AT 1974 H IHER 7 9 [&dh LT 397 2 |pT | 39
o @@ TiTefiSit o g9 1 T SR TR @ segia i 7 | 1987 § greecis M
e grr afvges T W FEe" WV § qATgR AWeE T T | 59 R
‘Gaq 9o faerE’ (Sustainable Development) 3T T J&qd 3R
THTY TV hi Fehierd i | I8 FAIe a1 H §817 @73 9iasT (Our Common
Future)?ﬁﬁﬁw%w&w%lﬁ@ |sﬂwﬁﬁ@3ﬁr%€r@
ANTEH Tl € S, Seia § 1992 7 ARG geell sred g foram T |

(35.1) Tad Ao faesm 1 319 Tyse i | 1
(35.2) TSie1-21" ol fop TSI TriieH # Telieha Teram T 2 1
(35.3) T o Tehegl 2 IRumHT <hl =T hifvu | 2x1=2
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India. Hickey published a lot of advertisements, including those that
related to the import and sale of slaves. But he also published a lot of
gossip about the Company’s senior officials in India. Enraged by this,
Governor-General Warren Hastings persecuted Hickey, and encouraged
the publication of officially sanctioned newspapers that could counter the
flow of information that damaged the image of the colonial government.
By the close of the eighteenth century, a number of newspapers and
journals appeared in print. There were Indians, too, who began to publish
Indian newspapers. The first to appear was the weekly Bengal Gazette,
brought out by Gangadhar Bhattacharya, who was close to Raja
Rammohan Roy.

(34.1) In which language was ‘Bengal Gazette’ edited by James Augustus
Hickey published ? 1

(34.2) Why was James Augustus Hickey persecuted ? 1

(34.3) Which newspapers were encouraged during the 1780s ? Why were
they encouraged ? 1+1=2

35. Read the given source and answer the questions that follow :

Conservation of Resources

At the international level, the Club of Rome advocated resource
conservation for the first time in a more systematic way in 1968.
Subsequently, in 1974, Gandhian philosophy was once again presented by
Schumacher in his book Small is Beautiful. The seminal contribution
with respect to resource conservation at the global level was made by the
Brundtland Commission Report, 1987. This report introduced the concept
of ‘Sustainable Development’ and advocated it as a means for resource
conservation, which was subsequently published in a book entitled Our
Common Future. Another significant contribution was made at the Earth
Summit at Rio de Janeiro, Brazil in 1992.

(35.1) Explain the meaning of sustainable development. 1
(35.2) In which international conference was ‘Agenda-21’ accepted ? 1
(35.3) Explain any two outcomes of the Summit. 2x1=2
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36. feu u &g =1 4feu 3R 3s Hfiw feu eyt & 3w difSe
TEhRT giufaat 9 /ot

Sohl & AATaT UHIT &3 H TE KO I Uk AT @I Tghil GHfadi & |
TghI AMUfd & TC8T 391 THTEHT i $S &1 § HgAT o oI T Hid @ |
ﬁwﬁwwﬁaﬁﬁﬁﬁm% S8 - fepam, gﬂ%ﬁ@aﬁ@ﬁ@ﬂ@
3CATIG <hl TEhII AT | Wk HhI A HHg{ * -Mcdoh Teh 719 H
HE 8 | 39 2300 ThEM e B | I8 U4 HSE U ST AT ]
g | 39 M1 YSit Sl FROMYR AFd U, 39 Tehil GMfd 4 S & a8 R0 I

o 2 | 38 it o1 3=a9T qu\iﬁ ol ¢ o foIT TR SITaT B | 98 kO
I o &G sl sl QU SR Y& foRAT ST Hehal 2 |

Uk TghR AT HiY ITHT GG, Tl AT HY SATIR HH, ASA! The,
T T SR 31 fafya TR & @l & fole R o1 it g |

(36.1) ‘N HEHR AT U4 TGEIT I KU TGH i oh [T 99 hE

39Sy AT & ? 1
(36.2) ‘FUH HEHR AUCAT TIH TGl hl fohd THR o FI YGH Hid
297 1
(36.3) Ut wEenr( wiufeat awfor &= | = gredg @ 2 2
Qus A
(Wt SRtvTe-SneaTiE Te) (2+3=5)

37. (a) TCU T wWa & TSHITd W@I-AFEA (8 27 W), § & TN 6l ‘A’ 3R
‘B o ®Y H 3fehd fopam M & | FAfaga SHepil bt ggmar @ 3=
qEaT-U 37 39k Tal 910 37k ey @i 75 W@rett 1 fefgu

A. 98 TIH S8l 1920 H AR TSGR HiUH 1 SREIH g3 AT | 1

B. 9% T gl Teist 5 T I Il o | 1
(b) WRA & H ToHifdes t@-aHfes & fFafafes § o 6 @7 =t

ST TRl | RISy 3R 3 9™ AT : 3x1=3

(i)  FANSAT — TIg FTEh hl TH
(i) THEY — YR S G

(ili) <PTSAl — THE THG I

(iv) HHHaThy — TaUsE 9y o
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36. Read the given source and answer the questions that follow :
Loans from Cooperatives

Besides banks, the other major source of cheap credit in rural areas
are the cooperative societies (or cooperatives). Members of a cooperative
pool their resources for cooperation in certain areas. There are several
types of cooperatives possible such as farmers cooperatives, weavers
cooperatives, industrial workers cooperatives, etc. Krishak Cooperative
functions in a village not very far away from Sonpur. It has 2300 farmers
as members. It accepts deposits from its members. With these deposits as
collateral, the Cooperative has obtained a large loan from the bank.
These funds are used to provide loans to members. Once these loans are
repaid, another round of lending can take place.

Krishak Cooperative provides loans for the purchase of agricultural
implements, loans for cultivation and agricultural trade, fishery loans,
loans for construction of houses and for a variety of other expenses.

(36.1) How do ‘Krishak Cooperatives’ secure funds for providing loans to

their members ? 1
(36.2) What are the different types of loans that ‘Krishak Cooperatives’
offer to their members ? 1
(36.3) Why are such cooperatives desirable in the rural areas ? 2
SECTION F
(Map Skill-Based Question) (2+3=5)

37. (a) Two places ‘A’ and ‘B’ have been marked on the given political
outline map of India (on page 27). Identify them with the help of
the following information and write their correct names on the
lines drawn near them :

A. The place where the session of Indian National Congress
was held in 1920. 1
B. The place where Gandhiji broke the salt law. 1
(b)  On the same political outline map of India, locate and label any
three of the following with suitable symbols : 3x1=3
(i) Bailadila — Iron ore Mines

(ii))  Namrup — Thermal Power Plant
(iii) Kandla — Major Sea Port
(iv) Meenam Bakkam — International Airport
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Fig: [REfiiga 3o7 @i ghearfaa qhgmaar & o7 397 §&q1 37 & € T
&/

fabgT aier 3941 & I G | 5x1=5
(37.1) 3@ USH &1 AW foifgu Sgf 1927 # 9T T S0 o1 Ay
T3 o1 |

(37.2) 3 TIH o1 A9 fARGw STgl et 5 THeh i arer o |

(37.3) 39 U¥ ol 9 faIRau &7 doAfea g 37k il @4 f€9d & |
(37.4) Torm U9 ® AMEY aTdE St 93 o g 2

(37.5) 38 UST ol A1 IREUC S8l et T Ja- e 3 |

(37.6) 3 USA 1 AW ARG gl HHHeTRY ey 9 IoH €d 7 |
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Note : The following questions are for the Visually Impaired Candidates
only, in lieu of . No. 37.

Attempt any five questions. 5x1=5

(37.1)

(37.2)
(37.3)
(37.4)
(37.5)

(37.6)

32/5/1-15

Name the state where the session of Indian National Congress
was held in 1927.

Name the place where Gandhiji broke the salt law.

Name the state where Bailadila iron ore mines are located.
In which state is Namrup Thermal Power Plant located ?
Name the state where Kandla sea port is located.

Name the state where Meenam Bakkam international airport is
located.

Page 25 of 27







For question no. 37
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AT 3397 :

[AET1CTRGa 17397 &1 ST9d% G160 371 37T G167 FIoT -

3G Jo7-97 § 37 797 &1 @t o7 S714ar% 8/

Y37-T7 : US| 4 [F91fe77 & - @UE &, @, 7, ', T T &/

U & - J57 G 1 & 20 TgITFT FFR & J97 81 I Jo7 1 37 F71 &1

TS & - F37 G 21 G 24 3T TY-FTIT FHR & J97 8| Fedoh 57 2 3] 7

8/ 57 571 &7 I 40 5] G 37fee T8 for@r ST F1feu)

5. UG T - T G&IT 25 & 29 TY-IT0T JFR & J37 81 JF 97 3 37 7 &1 57
T3] &1 I 60 I35 G 31 T8 forer 57 Fifeu)

6. TUE T - J57 G&IT 30 T 33 1 -3FT1T JHR 3 97 8/ Fe4% J¥7 5§ 371 71 8/ 57
Y] 7 IT 120 1561 @ 37fere 787 for@r sir =niza)

7. TUE T - 97 G&IT 34 G 36 HH—ATITRA /Fid— AT 597 8, 574 3 39-397
& yede J97 4 371 FT &1

8. @UE T - F¥T &I 37 HATAT Hivrer ATITRA F97 8, formd & 91T 8- 37()
gIAETT (2 37%) 3R 37(ii) YT (3 37F)| 57 37 & FoT 5 3% &/

9. 3% 3, I 3 13 T Wil & 1o7g B2l 79T rHfas 3fa STemia
Il & T T UF 7 T 1797 T 81 57 Je] & I FacT givantera wiend &
ferd)

KN owoh o~

©ug — <h

(CRECTRREE) (20x1 = 20)

1. TmfaRea @ @ fra go @ Sgav Wiaree! 1 dey o ? 1
(a) @Affen (b) Fecf
(c) IoH d) =H

2. & e few U B 3 erfireRem (A) 3R wWUT (R) B| SHT Al b ufen
3 g1 foremey k1 =9 hifsig)
ATURYT (A) : 1871 % o8 JUY § TFATE! TG 1 Fordl TR A SATesh o1
IO (R) : T 1 Tk 91 fedT SATm qmrss o = # o) 1
ferereu :
(@) (A) 3 (R) I &l & 3 (R), (A) T T AT T 2|
(b) (A) 3R (R) g &l € AR (R), (A) it Tt o & i 2|
(c) (A)TE R, W (R) Terd 2|
(d) (A) 74 &, T (R) T 2
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GENERAL INSTRUCTIONS :
Read the following instructions carefully and follow them :

1.
2.
3.

This question paper contains 37 questions. All questions are compulsory.
Question paper is divided into SIX sections — Section A, B, C, D, E and F.

Section A — question number 1 to 20 are multiple choice type questions. Each
question carries 1 mark.

Section B — question number 21 to 24 are Very Short Answer type questions.
Each question carries 2 marks. Answer to these questions should not exceed 40
words.

Section C — question number 25 to 29 are Short Answer type questions. Each
question carries 3 marks. Answer to these questions should not exceed 60
words.

Section D — question number 30 to 33 are Long Answer(LA) type questions.
Each question carries 5 marks. Answer to these questions should not exceed
120 words.

Section E — question number 34 to 36 are Case-based/Source-based questions
with three sub-questions. Each question carries 4 marks.

In Section F — question number 37 is Map skill based question with two parts —
37(i) History (2 marks) and 37(ii) Geography (3 marks). This question carries
total 5 marks.

In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs, Map etc.
Such questions are to be attempted by Visually Impaired candidates only.

SECTION - A
(Multiple Choice Questions) (20x1 =20)
From which of the following countries Giuseppe Garibaldi belonged to ? 1
(a) Austria (b) Italy
(¢) Greece (d) Spain

Two statements are given below. They are Assertion (A) and Reason (R).

Read both the statements and choose the correct option.

Assertion (A) : The most serious source of nationalist tension in Europe
after 1871 was Balkan.

Reason (R): A large part of the Balkan was under the control of
Ottoman Empire. 1

Options :

(a) Both, (A) and (R) are true and (R) is the correct explanation of (A).

(b) Both, (A) and (R) are true but (R) is not the correct explanation of

(A).
(¢) (A)1strue but (R) is false.
(d) (A) 1s false but (R) is true.
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3. f=faRed semett =t wesmagaR Safera fife o adt fases &1 ==
Hifse
I SEgAgHa st i . -9ifcE 61 8R
1. AT T Tehtero [V. ST ST TehieRtor

faemeu -
(a) L ILIV3MWIII (b) ILIIL IR IV
(c) ILIIV3MWRII (d) TV, L3RI
4. YA UgATE § Heida fefafed # 9 sF-a1 Sirel gafad 87
EG| RIUGiE]
(a) FER WA : Tegeam Hreforee frafscter STt
(b) «q fog ;T uTdt
(c) Hl.3IR. q™ . FHEI 9amE
(d) S AEARE o ofay feEe En
5. @el gufca Sie &1 = i)
(a) g g ~ Ui T\
(b) 3TaIE 41q S EETN]
(c) UTfcash WSl - ST de2
(d) i@ - e

6. Tau T el @l ufgu 3R ffafad § & &l s kg o dag | ¥l faehed
T =TT hHifS

. it wHai ol 3l g | ST ST 2 |

. 3% YR U femer ® oam Sram 2 3 78 & S 8 el S 2|
1. 3Heh! J&T FHcl Tahl, AT 37 I 2|

IV. USTe, SRETO ST 3T TG I Icq1e o Fewaqoi U9 ¢

ferehea :
(@) LIIARIV (b) 1L I R IV
(c) LIIIRIV (d) L II3MRIII
7. fefaRed S it gerdT @ gt S geeH i
« IE 3= A9 a1 &t 0 forenfEa gt R
o I8 9t i @ SAafeen e o aftorm 2)
o 3O TEE T W A U1 S )

U
(a) TEEYA ga OERISIRE
(c) AT e (d) Tell &t
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3. Arrange the following events in chronological order and choose the
correct option from the following :
I.  Treaty of Constantinople II. Defeat of Napoleon

[I.  Unification of Italy IV. Unification of Germany 1
Options :
(a) LI, TV andIIl (b) ILII Tand IV
(¢) IL 1,1V and Il (d) IV, Il and II
4.  Which one of the following pairs regarding Indian nationalism is correctly
matched ? 1
Leaders Contribution
(a) Sardar Patel :  Hindustan Socialist Republican Army
(b) Bhagat Singh : Swaraj Party
(c) C.R.Das : Bardoli Satyagraha
(d) Jawahar Lal Nehru : Oudh Kisan Sabha
5. Choose the correctly matched pair. 1
(a) Ferrous — Natural Gas
(b) Non-Ferrous — Nickel
(¢) Non-Metallic Minerals — Limestone
(d) Energy Minerals — Cobalt

6. Read the given statements and choose the correct option with regard to
Rabi cropping season from the following :

I.  Rabi crops are sown in winter.

II.  Sown from October to December and harvested from April to June.
ITII. TImportant crops are Maize, Cotton, Jute.

IV. Punjab, Haryana, Uttar Pradesh are important for the production of

wheat. 1
Options :
(@) LI and IV (b) II, I and IV
(¢) LMand IV (d) I, ITandIII

7.  Identify the soil with the help of following information.
* It develops in areas with high temperature.
* It 1s the result of intense leaching due to heavy rain.

* Humus content is low. 1
Soil :
(a) Ard soil (b) Yellow soil
(¢) Laterite soil (d) Black soil
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8. Trfafad 4 @ +i9-41 vee Afgarsti il g, TsHIdE T I

a8 fagard 37 3geh! gehteld i 8 efa g ?
(a) o (b) e
(c) THSEE (d) TRETE

9. feuTu sHedi w ufgu -

o YA 1 RIS oft USThIT o el 2|

« Rd § ot oeri &l fRet off e o1 uiem ST SRR & i

AN B
3T eI o fore Fferfad ® @ S -81 gagri-e: 3rea 3w feran T g 7
(a) TR (b) wafrAE
(c) @Ue (d) FHEE

10. w9 I 1 T &9 1 8 hifsre 3R @&t fommeq o1 ==F hifsie

w1 (Feit)

w9 11 (TfereRr &)

L st fow | A 3 fawai w Rk osa a R g @ 2

ST 2

I vsogdisfam | B whewd & U F5 o 1 W

oo

. a9ad g=ht & fawa | C. ez o T Tl & AR &5 o qgd

IV. e == foaw D. T fsRii WX heg TR T ST 2 |

I 1T IV
@ A B C D
® C D A B
¢ D C B A
@B A C D

11. fm=fafed d @ ®F-91 o8 1 10 9hR 59 | dfestaw 1 Trfie 389

o 7

(a) UTEpidsh HEAHAT hl TGMET T
(b) AT Tt 1 Yo FHET|
(c) AT FIAT I AR FET

(d) Tl FHTESE gt S
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10.

11.

Which of the following term refers to the belief in and advocacy for the

social, political and economic equality of women ? 1
(a) Patriarchy (b) Matriarchy
(¢) Socialist (d) Feminists

Read the given statements :

* India has no official religion.
* All the communities have freedom to profess and practice any

religion in India.

Which one of the following constitutional term is used for the above

statements ? 1
(a) Republic (b) Secular
(¢) Sovereign (d) Socialist

Match the Column I with Column II and choose the correct option :

Column I (List) Column II (Jurisdiction Sphere)
[.  Union list subjects A. State Governments alone make
laws on it.
II. State list subjects B. For uniformity Central Government
Legislates on it.
II1. Concurrent subjects C. Subjects wunder Jurisdiction of
Centre and State Governments.
IV. Residuary subjects D. Central Government legislates on 1
new subjects.
I 1 I v
@ A B C D
(by C D A B
(c) D C B A
(d B A C D

Which of the following was the primary objective of Belgium to form the
separate government in Brussels ? 1
(a) Promoting cultural events.

(b) Managing international relations.

(¢) Enforcing local laws.

(d) Ensuring linguistic accommodation.
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12.

13.

14.

15.

16.

17.

fmforfiga o @ forg 2w d 1-eflg Yot ® 7
(a) =M (b) =
(c) wRd (d) uTfeREa™

AT 331 § TR iR aqeH’ 6 = fies € ¢ Frafeifaa 9 @ we
39gh faehed oh1 == IS

(a) SfafTert o forT TR o1 Teget &9 Tnfud o

(b) ATHRIRATE I Ueh o foTT ITRFAT =T Yerarhor |

(c) wfaeam o foreh oft seama =i Uk

(d) EHR I T wmET o fore quf wife gifeaa s

A HSTT Teh IRER & geei shi |Tieeh 3T el fefofad @

« HTdT - %. 50,000/ - o forar - %. 40,000/ -

« 9 - %. 20,000/ - * gt - ®. 20,000/ -

30 UTER i 3ed q1fdes A Bnf

(a) %.32,000/- (b) %.30,000/-

(c) ¥.32,500/- (d) =.33,000/-

forenma o ey o fava S frefafaa 9 @ fora gk it smurfierar qar & 7
(a) o g (b) T

(c) IR WM gHhTeh (d) ufa=afke s

Tk T il qfd o foTe @t foshed o1 == shifs|
TR R ORI 0T T STeE AYET Tidael s g2 shi T

% 19 A ST ST 2
(a) fafem (b) T amfdfes &
(c) eI (d) foeeh yeaer fam

feferiad ®# & s -o1 wmfed & i idafafert o1 g g ?
(a) Uk TR o1 319 Wl it Fo=g |

(b) TIRTET TR T T B H T HLAT|

(c) TR W e 33M ara wiftrer w1 T ATET|

(d) TTRRI Ta § Regeh &1 F™ o |
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12. Which one of the following countries has two-party system ? 1
(a) China (b) United Kingdom
(¢) India (d) Pakistan

13. What role do ‘checks and balances’ play in a democratic country ?
Choose the most suitable option from the following. 1
(a) To establish a direct form of government without representatives.
(b) To create a separation of powers to prevent from authoritarianism.
(¢) To prevent any change to the Constitution.
(d) To ensure absolute power for one branch of government.

14. Suppose, the monthly income of the family members is as follows

respectively :
* Mother — Rs. 50,000/- * Father — Rs. 40,000/-
* Son — Rs. 20,000/- * Daughter — Rs. 20,000/-
The average income of the family would be : 1
(a) Rs.32,000/- (b) Rs. 30,000/-
(¢) Rs.32,500/- (d) Rs.33,000/-
15. Which one of the following indices 1s given priority by the World Bank
with respect to development ? 1
(a) Infant Mortality Rate (b) Equality
(c) Body Mass Index (d) Per Capita Income

16. Choose the correct option to fill the blank.
Removing barriers or restrictions on business and trade set by the

government 1s called as i 1
(a) Disinvestment (b) Special Economic Zones
(¢) Liberalisation (d) Foreign Direct Investment

17. Which one of the following is an example of organized sector activities ? 1

(a) A farmer irrigating his field.

(b) A handloom weaver working in her house.

(¢) A headload worker carrying cement.

(d) A teacher taking classes in a government school.
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18.

19.

20.

frefaRad § @ v wgg foram & T & e s § 7 fou e foerei & @
T2 1 =3 ity |

I S Al 1. o &1 ek greq e

Il 3= qIRETiEn 3™ IV. &1 & foe s1feres feq

faemeu -

(a) haet [ 9 11 @ 2 (b) Haa 19V & &

(c) ohad 119 I11 TE 2| (d) HaA 19V T E

T 3 W UE RUIGTATST hi SRR THF FUMUR hl SATTTIHdT 41 Bl & 7
frefaRad & @ g8 3uh foere w1 = Hifsu|

(a) IUTHArel & T saSTel &1 & & fag|

(b) =afHTa Tae T F forw)

(c) TI AT I FEH o oy

(d) 9T e o SIRGH o hH A o foTU|

T8 TR ! LY <R 37 o shi 31 o s fepiferu)
EED
BANK  sm#raas

fmatafaa § 9 ¥ fasrew o1 ==  fifsg)

(a) Sk o T AR e Sk o s fohu MU e 37T 7w 1w ko <1 37|

(b) whsieR B foTu U =TS 3T SHTERdteT =t feu U s Y W & S @
<y

(c) Sk S Fsiar © foTw T =07 Sl &T 7T TRt ot fou T w07 i g H
iy

(d) TRt gRT ST fohT T e 3T heleR I foAu TTU SR9T ST S|

: Trfeifaa we shaer gfeanfea whenterat 6 forg wom v 20 & e ™

ad § f=fafiad 3 @ e ko1 o Sfio=nies |idt shl shrivurTe! 9T T {EdT
27

(a) W fiwd ofF (b) AT W2 5

(c) e foerm uftwe (d) T fm s
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18. Which of the following are developmental goals of a prosperous farmer ?
Choose the correct from the given options.
I.  Better wages
II.  Higher support prices for crops
III.  Assured high family income
IV. More days for work
Options :

(a) Only I and II are correct.
(b) Only Il and IV are correct.
(¢) Only II and IIT are correct.
(d) OnlyIand ]IV are correct.

19. Why do lenders often require collateral before lending loan ? Choose the
most suitable option from the following.

(a) To lower interest rates for borrowers.
(b) To establish personal relations.

(¢) To increase their profit margins.

(d) To mitigate the risk of loan default.

20. Look at the given picture carefully and infer the income of the bank.
EE]
BANK

DEPOSITORS People make

BORROWERS

People take

deposits

| People make
7 withdrawals and
get interest

loans

The Income
of the bank
increases

People repay
loans with &
interest

(a) The difference between the amount deposited and borrowed by the
bank to Reserve Bank of India.

(b) The difference of amount of interest between what is charged from
borrowers and what 1s paid to depositors.

(c) The difference of interest rate between what i1s charged from
borrowers and what is charged from depositor.

(d) The difference between the amount deposited by the depositor and
borrowed by the borrower.

Note : The following question is for Visually Impaired Candidates only in
lieu of Q. No. 20.

Which one of the following supervise the functioning of formal sources of

loan in India ?

(a) Reserve Bank of India

(¢) National Development Council

32/1/1 /31/AB3CD/1

(b) State Bank of India
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21.

22.

23.
24.

25.

26.

27.
28.
29.

30.

31.

32.

«us -9
(arfa ey -3 o) (4x2 = 8)
“amyfie # T Ted F I H g F [ R 9mi % e s ok
TTEH{Teh Tehi 1 Sftad 3Tl fiess amt on)’’ 59 e &t e ol

ERUIRIEEEIS Y 2
(A) I T % TQ 1S &1 U s
AT
(B) I=ISfal o €& o foTe ig 31 3UTT FEmsu| 2
T <h HTEIER] I e 77 T It 2
Trdsiieh 3R sl & & s T T i 2
s - T
(erg-zadE ued) (5x3=15)
(A) Toregi 7 ot o1 avfa Hifs S stERE STeieH & foTy 3teETEt 9| 3
JrraT
(B) ‘G 31a reie’ o foheel i ot &1 vl shifsTe) 3
“fafmin e s foerm it fe wwgr S@ B 59+ = e
ERER 3
qAehad | TSHITeh el shl S{HeRT a1 forgersor shife| 3
arifefer TfaferfRr o fore s forg Ter sTTarsares 2 7 Ierewon afed T Hifs) 3
Rt <1 forsar fershrer 3 foru forer wehm werarqul 2 7 Taw Sfifsrg| 3
o us - ¥
(Fred 3= we) (4%5 = 20)
(A) e waredt o RiYek aut § ‘IgRare’ H =R 3 39w R
TehR guTferd feram ? wum il 5
AT
(B) ‘FATEes fohmen 31i e fara’ o e+ shi ufskan it =amen hifs| 5
(A) e forshma & foTT STl fof Wbl U ST STTawehal & ? TU8
IS 5
AT
(B) il o TR @i fohd JehR ST9EoRTd | © o 2 7 ww s 5
(A) TARAIER TGRR, 3T IMEF FEErsli i gorl | fofd TR oEm
2 7w Fifs 5
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21.

22.

23.
24.

25.

26.

27.
28.
29.

30.

31.

32.

SECTION - B

(Very Short Answer Type Questions) (4x2=18)

“The Silk route was a good example of vibrant pre-modern trade and
cultural links between distant parts of the world.” Explain the statement

with any two examples. 2
(A) Suggest any two measures for the conservation of forest. 2
OR
(B) Suggest any two measures for the conservation of wildlife. 2
Why 1s power sharing desirable ? Explain. 2
Differentiate between Public and Private Sector. 2
SECTION - C
(Short Answer Type Questions) (5x3 =15)
(A) Describe any three causes that led to the Non-Cooperation
Movement. 3
OR
(B) Describe any three causes of ‘Civil Disobedience Movement.’ 3
‘Manufacturing industries are considered the backbone of economic
development.” Justify the statement. 3
Analyse the role of political parties in a democracy. 3
How i1s credit essential for economic activities ? Explain with examples. 3
How is the issue of sustainability important for development ? Explain. 3
SECTION -D
(Long Answer Type Questions) (4x5=20)
(A) How did the 1deology of ‘liberalism’ affect the Europe in early
nineteenth century ? Explain. 5
OR
(B) Explain the process of formation of ‘United Kingdom of Great
Britain’. 5
(A) How is energy a basic requirement for economic development ?
Explain. S
OR
(B) How are conventional sources of energy different from non—
conventional sources ? Explain. 5
(A) How are democratic governments better than other forms of
government ? Explain. 5
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JrraT
(B) <ehdi=eh SO ooy fhd JehR SMId TR TguTd o1 S S o
ATERT o foIU AeeTR atfera @it € 7 wum it 5

33. (A) ‘‘fofvm <o o offe R ey 3R g shisor i uishar g€ et
21" 9 %oH ) Ieren gid saredn shifsu) 5
T
(B) ‘“Srenfireht st Iafa 3 Jveliontor it wishn 1 3ot foman 21 38 e
3STEL0N Eied SuTEd Shifsu| 5

@UE -
(RE - TETE /T — JTETE 9T) (3x4=12)
34, Tfciaa |ia sl saHgEe aley 3R 38 1 fau e s o 3 fafaw -

gfsa weg
HIET = 701 Tk fohdTer  BY w76q 3hl dTeRd ol Y ST foRa

‘R TRt I O3 Ugd IWT BN @1 389 43 39 W 1 alE IR B S IS
AT uH e W TTeTe i o 2. 98 TEfiard | drded SiaH & ag #
e &l foRamei § gl a1 91| 3R aTeh 31 379 o YaR § H UH1-q-U=1 FRdl
AT ST T, S SR S | T o 9 0 "igare & 69 sidl gel
ST o7, g GATS 781 9Sdl 7| 7 @eH g 8 T Arere it diell g8
) oft, & o foh yedr sman) # o< I8™ A stewa ot 1= o o, fR W
AT § oFay™ 7 Ug| 3R 3 ¢ fomm form 3 & W fox & goa &) 76 gfg Fa
38 ATHETd Lt off!

34.1 9% GId ATYT 3 Te hi e i i fohd TR gwifar © ? 1
34.2 AT ST 39 AT SITE @k i affa fema ? 1
34.3 Yed A AT H sifge udn 3R T3 SRS o A 3T JS1d

ohg o feram ? foregl a1 forgat oht smean =hifsul 2
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33.

34.

OR

(B) How do democracies lead to peaceful and harmonious life among
citizens ? Explain.

(A) “Globalisation is the process of rapid integration or interconnection
between countries.” Explain the statement with examples.

OR

(B) ‘Improvement in technology has stimulated the globalisation
process.” Explain the statement with examples.

SECTION - E

N

(Case-based/Source-based Questions) 3x4=12)

Read the following source carefully and answer the questions that follow :
Printed Words

This is how Mercier describes the impact of the printed word, and the
power of reading in one of his books :

‘Anyone who had seen me reading would have compared me to a man
dying of thirst who was gulping down some fresh, pure water.... Lighting
my lamp with extraordinary caution, I threw myself hungrily into the
reading. An easy eloquence, effortless and animated, carried me from one
page to the next without my noticing it. A clock struck off the hours in the
silence of the shadows, and I heard nothing. My lamp began to run out of
oil and produced only a pale light, but still I read on. I could not even take
out time to raise the wick for fear of interrupting my pleasure. How those
new ideas rushed into my brain! How my intelligence adopted them!’

34.1 How does the passage reflect the immersive nature of reading of
Mercier ?

342 Why did Mercier describe himself as a virtual writer ?

34.3 How did reading influence Mercier’s intellectual capacity and his
engagement with new concepts ? Explain in any two points.
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35. Tefciad |id ol S afey 3R 38 1< T4 ey o 3T fafaw -
EI
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o et /efifos w T&aw Hem o
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o U THET, S, YoId™, HE@Ul TSI TS i Teh GUard T T
piicy

o I3 9T AT ST A1 7Y IRAR o TG 7R IRl o T aiara T S
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o et @, Ter-ferd, e onfe @ TR
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o it forsTelt o TMEH X &; IR START i | T 3R] S L |

* QTSI 9ohT 371 @M1 3R @ Hal @IU| FHIM 39 @ I &oh L W |

o T foru 3T 37K fheed ot 1 3T |

* 319 B o GHIT Al 1ol -1 Rl ET T |
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o SoiiTorT T3S 37 i) 1 ITANT il ST HTFUTH oh SelToh ol TTHshIT W |
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35. Read the following source carefully and answer the questions that follow :
Mo e |

FLOODS
Basic safety Precautions To Be Taken :
* Listen to radio/TV for the latest

weather bulletins and flood warnings.
Pass on the information to others.

*+ Make a family emergency kit which should include; a portable
radio/transistor, torch, spare batteries, a first aild box along with
essential medicines, ORS, dry food items, drinking water, matchboxes,
candles and other essential items.

» Keep hurricane lamp, ropes, rubber tubes, umbrella and bamboo stick
n your house. These could be useful.

» Keep your cash, jewellery, valuables, important documents etc. in a
safe place.

» If there is a flood, move along with your family members and cattle to
safe areas like relief camps, evacuation centers, elevated grounds
where you can take shelter.

* Turn off power and gas connections before leaving your house.
During floods :

* Don’t enter into flood waters; it could be dangerous.

* Don’t allow children to play in or near flood waters.

» Stay away from sewerage line, gutters, drains, culverts etc.

» Be careful of snakes; snakebites are common during floods.

+ Stay away from electric poles and fallen power—lines to avoid
electrocution.

* Don’t use wet electrical appliances-get them checked before use.
» Eat freshly cooked and dry food. Always keep your food covered.
» Use boiled and filtered drinking water.

» Keep all drains, gutters near your house clean.

» Stagnation of water can breed vector/water—borne diseases. In case of
sickness, seek medical assistance.

* Use bleaching powder and lime to disinfect the surroundings.
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36.

35.1 Toreel Q1 Tavs aegedl a1 IgQ hHiY foie ITRETNGR STTITaeRTel
fore” o wmfore fopem T =nfRw)
352 ag i feufa # wiftafen straTaehTef= fore 3t arqe =1 mequl & 7

353 9g 3 W A YRR 3R T0H il gLea gHfraa & o w:a
STgeITed s 27 formdl Q1 o1 auiq Shifsg

fefcriaa |ia ot e afeT 3R 38 e fou Ty o S fafaw -
AT TR

T RN 1 T HaE ST | AR 1 319 qo 1 Hed Jg1 A B
QR A9 H IW-TEE SR TR o7 § Ha 36 wra g ge faffe )
T8 EAT & A 9 § gHAT F HE Qi hl FA AE F A& 7| T
TR ol HALTHF T fGU I & TAR F8T Arhad hl SIS 3 A 8% o
g gigenestt o1 gfafftcg serm o @Y € AR Alshad § 3okl STTETST i
Tse T B1 SEtETe, 3 derh araeg oneft oft e wamfEt wem
TR o AT At Efid ®9 8 B § o S o 3care @ 3 few ot o @
Afer 7w Tarett it Foh Frafia w9 @ T8 Bl i o= W 3
T T ol TATH HAf4epR 71 U & 3 A &1 vafy gared fiu 81 59 yhn
T TRITE S ey feufa & e g 2

36.1 w=mal § Faffad SfafeRT o aaw o foeron i

36.2 Slehdd H "igenaTt st gfafierea T gwer f gaunfae feafa @ frm
TR THTIo 37T ©

36.3 UM TR i HALTHF ISl o 1 I o ARl THGYT T &1
T9T9 U1 § 7 foReel &1 wurat w1 farweror ifs)
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35.1 Mention any two essential items that should be included in a ‘family
emergency kit’. 1

35.2 Why are the items of family emergency kit important during flood
situation ? 1

35.3 In case of a flood, what are the recommended actions to ensure the
safety of your family and belongings ? Describe any two. 2

36. Read the following source carefully and answer the questions that follow :

LOCAL GOVERNMENT

This new system of local government i1s the largest experiment in
democracy conducted anywhere in the world. There are now about
36 lakh elected representatives in the panchayats and municipalities etc.,
all over the country. This number 1s bigger than the population of many
countries in the world. Constitutional status for local government has
helped to deepen democracy in our country. It has also increased women’s
representation and voice in our democracy. At the same time, there are
many difficulties. While elections are held regularly and enthusiastically,
gram sabhas are not held regularly. Most state governments have not
transferred significant powers to the local governments. Nor have they
given adequate resources. We are thus still a long way from realising the
ideal of self—government.

36.1 Analyse the significance of the elected representatives in the
Panchayats. 1

36.2 In what way has the representation of women in democracy
influenced by Constitutional status for local government ? 1

36.3 What has been the impact of granting Constitutional status to local
government on the democratic landscape of the country ? Analyse
any two impacts. 2
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«ug - A
(arfir Foret snenia ) (2+3=5)

37. (i) Tou U vRa & TeHifas War-amis wWoE TE A’ 3R B’ % ®9 °
Sferd Tort 1w 8| frefeRad SR Shl FErdT ¥ 3= ug=T-T 31 39

TE 8 Ik Tty T TE W@red w At -
(a) T T ST WRTeHT el 3 THeh ST aren| 1
(b) I TAF SR RATT UL FIUH 1 ARG 1927 F FaT1 1| 1
(ii) T % SE TSI W@-AHeE W) Fefaied § @ fredt & 1 3w
forgt @ sy 31 3 AW fefaw (3x1=3)
(a) TWEHE - 99 1
(b) TS - WY TeNfirehl ITeh 1
(c) TSTEEl - SFRIYH TaTs o 1
(d) T ~  TETY] Sl T 1
e : fafaRed w1 Faa gt wheanfdat & fow uwm g 37 & e
W E (5x1=5)
fereet aier Tt o SR e
(i) 38 TAH &1 AW TR st were e 3 e FHE arenl 1
(i) 39 €M %1 A TARAT SR TR TER e 1 SARERE 1927 | ga| 1
(i) 38 =T o1 T Tafau st dsge e fora 2| 1
(iv) 3T TST 1 T faRau Set gras ardedr Frenfiehl areh e 2| 1
(v) 39 T o1 W fafaw stet oo @i sy e aver o 2| 1
(vi) 38 T o1 T TR set i uwmy St @97 feora 21 1
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SECTION - F
(Map Skill Based Questions) 2+3=9)5)

37. (i) Two places ‘A’ and ‘B’ have been marked on the given Political
outline map of India. Identify them with the help of the following
information and write their correct names on the lines drawn near

them :
(a) The place where Mahatma Gandhi broke the salt law. 1
(b) The place where Session of Indian National Congress was held

in 1927. 1

(ii) On the same Political outline map of India, locate and label

any three of the following with suitable symbols : (Bx1=3)
(a) Hirakud - Dam 1
(b) Mumbai - Software Technology Park 1
(c) Raja Sansi — International Airport 1
(d) Naraura — Nuclear Power Plant 1

Note : The following questions are for the Visually Impaired Candidates only,
in lieu of Q. No. 37. (5x1=5)

Answer any five questions :
(1) Name the place where Mahatma Gandhi broke salt law. 1

(1) Name the place where the Indian National Congress Session was

held in 1927. 1
(111) Name the state where Hirakud dam is located. 1
(iv) Name the state where Mumbai Software Technology Park is located. 1
(v) Name the state where Raja Sansi International Airport is located. 1
(vi) Name the state where Naraura Nuclear Power Plant 1s located. 1
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